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Question Number : 1 Question Id : 6009298084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

PK, TG, XC,BY,
Options :
1. # HS
2. % GV
3. % ET
4. ¥ FU

Question Number : 1 Question Id : 6009298084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferRad &R e o1 Q1

PK, TG, XC,BY,
Options :
1. % HS
2. % GV
3. % ET
4. ¥ FU

Question Number : 2 Question Id : 6009298085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option word CANNOT be formed by using the letters of the word given below?

ATTRACTIVELY
Options :

1. ¥ LYRIST

2. % TREATY

3. % CATTLE

4. % ATTIRE

Question Number : 2 Question Id : 6009298085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad fAeedl & I ST Yoc TIT © O 1 2T e & 3H&RT BT YN B b Tl ST ol bl g2

ATTRACTIVELY
Options :

1. ¥ LYRIST

2. % TREATY

3. % CATTLE




4. % ATTIRE

Question Number : 3 Question Id : 6009298086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. STEEPED
2. STEMMED
3. STEAMED
4. STEEPLY
5. STEPPED

Options :

1. % 3,1,2,4,5
2. % 3,4,5/1,2
3.03,1,4,2,5
4, % 3,4.1,5,2

Question Number : 3 Question Id : 6009298086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U3l P ST HH H TafRUT PR SFE FAH I TeH H B B |

1. STEEPED
2. STEMMED
3. STEAMED
4. STEEPLY
5. STEPPED

Options :

1. % 3,1,2,4,5
2.%3,4,5/1,2
3.3,1,4,2,5
4, % 3,4,1,5,2




Question Number : 4 Question Id : 6009298087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

HS8S, L120, , 120G, X24C
Options :

1. # S16M

2. ¥ Pl6K

3. % Qle6J

4. ¥ RI16L

Question Number : 4 Question Id : 6009298087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRad saen & qu ug I1d &e:

H8S, L120, , T20G, X24C
Options :

1. # S16M

2. ¥ P16K

3. % Ql6J

4, ¥ RI16L

Question Number : 5 Question Id : 6009298088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option pair shares the same relationship between its words as that shared by the words in the below pair?

Teacher : School :: ?
Options :
1. % Painter : Brush

2. ® Factory : Worker



3. % Judge : Lawyer
4. % Farmer : Field

Question Number : 5 Question Id : 6009298088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad o ¥ frg faeer & e g A 98! Yay § S Yay - Ru M s g & da 81
e - fogmaa = 2

Options :

1. % REASR : 9

2. % HRQMT : BTGB!
3. % gOTeher : dotd
4. ¢ {9 - @d

Question Number : 6 Question Id : 6009298089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

PUZ : MRW :: TJS : ?
Options :
1. # RFO
2. ¥ QGP
3. % SIQ
4. % VLU

Question Number : 6 Question Id : 6009298089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 99 B S iR UG ¥ 341 UHR ¥ Yafdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g

PUZ : MRW :: TIS : ?




Options :
1. # RFO
2. ¥ QGP
3. % SIQ
4, % VLU

Question Number : 7 Question Id : 6009298090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option pair shares the same relationship between its words as that shared by the words in the below pair?

PGN : UBS :: ?
Options :

1. % KTC : PAG
2. % PKE : SMG
3. ¥ KXJ: PSO
4. % MUL : PTN

Question Number : 7 Question Id : 6009298090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & § fd faden & Weg g o 98! Yay § off Yay 1o fou T e g & A g |

PGN : UBS ::?
Options :

1. # KTC : PAG
2. # PKE : SMG
3. % KXJ: PSO
4. % MUL : PTN

Question Number : 8 Question Id : 6009298091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If DAM = 18, MICRO = 58, then what is the code for SAME?
Options :

1. #® 36

2.9 38

3. % 40

4. % 42

Question Number : 8 Question Id : 6009298091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If& DAM = 18, MICRO = 58 &, A SAME & fold 1 &1 87
Options :

1. # 36

2.9 38

3. % 40

4. % 42

Question Number : 9 Question Id : 6009298092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Daisy is Rose, Rose is Lily, Lily is Lotus, Lotus is Sunflower, Sunflower is Orchid, Orchid is Tulip, Tulip is Jasmine, then what is the national
flower of India?

Options :

1. # Lotus

2. * Rose

3. * Lily

4. ¥ Sunflower

Question Number : 9 Question Id : 6009298092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe AR T[T g, [l faifel 3, ifel $wd 8, HHa QRorgE! 8, ol 3iifdhs @, siffdbs cyfer &, Sgferd Tl &, df WRd &1 I8




ol 1 8?
Options :

1. ¥ DHJ

2. ® Td9

3. % fafa

4. ol

Question Number : 10 Question Id : 6009298093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PERISH is coded as 18-3-20-7-21-6, then what is the code for QUICK?
Options :

1. % 17-19-11-3-13

2. % 17-21-9-3-11

3.9 19-19-11-1-13

4. % 19-17-7-5-15

Question Number : 10 Question Id : 6009298093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe PERISH & 18-3-20-7-21-6 & U H S Sd fbar 7T §, O QUICK & T oS Fam 82
Options :

1. % 17-19-11-3-13

2. % 17-21-9-3-11

3. % 19-19-11-1-13

4. % 19-17-7-5-15

Question Number : 11 Question Id : 6009298094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If STRONG is coded as HGILMT, then what is the code for FLARE?
Options :



1. ¥ UOZIV
2. % VPAJU
3. % WQBKX
4. % UMZKW

Question Number : 11 Question Id : 6009298094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe STRONG &I HGILMT & ¥U H Pifsd far a1 8, @t FLARE & ot &1s o1 82
Options :

1. ¥ UOZIV

2. % VPAJU

3. ¥ WQBKX

4. ¥ UMZKW

Question Number : 12 Question Id : 6009298095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manyata is nineteenth from the right end in a row of 50 girls. What is her position from the left end?
Options :

1. % 32

2. % 31

3. % 33

4. % 34

Question Number : 12 Question Id : 6009298095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qT=aTdT 50 S bl & Ufdd & gifed SR A SHd WA W g1 91U 3R T 39! fUfd Fm g2
Options :

1.9 32




2. % 3]
3. % 33
4. % 34

Question Number : 13 Question Id : 6009298096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Bishal is the brother of Ajay, Diksha is the daughter of Ajay, Lara is the sister of Bishal, Manish is the own brother (sibling) of Diksha. Then
Bishal is the of Manish.

Options :
1. # father
2. ¥ uncle
3. % brother

4. % brother-in-law

Question Number : 13 Question Id : 6009298096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faTer 3rera o1 WS ©, <laf 3rord b1 91 7, IRT f9<nd &t 581 &, I Shaf o1 T WIS 21 o) fowrme iy 61 g
Options :

1. % fOar

2. TR/ /AT 9T/ BT

3.% s

4. % IR/ E1/ 818 / IS

Question Number : 14 Question Id : 6009298097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anita, Preksha, Rishi, Yash, Shruti and Manish are sitting in a row. Shruti and Manish are sitting in the centre. Anita and Preksha are sitting at the
extreme ends. Rishi is sitting to the left of Anita. Who is to the right of Preksha?

Options :
1. ¥ Yash



2. * Anita
3. #* Shruti
4. % Rishi

Question Number : 14 Question Id : 6009298097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, DT, 1Y, T, Yy SiR -y U Ufdd B 93 § | YfA SR A0 &g T 96 1 31T 3R Ue TRE BR W 93 8 1 B o fiar & a1 oiR
3T S| U&fT & aTg 3R H b1 6?2

Options :

1. ¥ Y[

2. % 3Kl

3. % offd

4. % By

Question Number : 15 Question Id : 6009298098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: Advertisement makes the product of the company very popular.

Conclusion I : Advertisement is very costly.
Conclusion II : Sales of a company increases because of advertisement.

Options :

1. ®¥ Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. % Neither I nor II follows

Question Number : 15 Question Id : 6009298098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uy H U Y fear man B, forges a1¢ &) sy 1 3R 11 fGu U §1 31Ut 3T HUH B I AT 8, Hal 81 I8 I I1d a3 fiw
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Options :

1. % $Had [T5HY [ 3FIERU Hdl §
2. ¢ Had (BN 11 IR0 Hal §
3. % [ 3R 1 ST SFIERUI xd §

4. % 1 3R TE I SR BT §

Question Number : 16 Question Id : 6009298099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of actions, if any, follows from the given statement.

Statement: Tsunami has hit several parts of the country few days back.

Course of Actions:
I : Food, water and shelter should be arranged for people staying in these areas.
IT : Government should make various arrangements for providing financial assistance to help those who are affected by the Tsunami.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follows
4. ® Neither I nor II follows

Question Number : 16 Question Id : 6009298099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had | IR0 HRAT §

2. % Had I 3IERU HT §

3. ¥ 1 3R 11 GIFT AR % §

4. % 1 3R TE I ST BT &

Question Number : 17 Question Id : 6009298100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All potatoes are cabbages.
Statement 2 : No spinach is cabbages.

Conclusion I : Some potatoes are spinach.
Conclusion II : Some cabbages are potatoes.
Conclusion III : No potatoes are spinach.

Options :

1. # Only conclusion I follows

2. % Only conclusion I and II follow

3. % Only conclusion II and III follow
4. # All conclusions I, IT and III follow

Question Number : 17 Question Id : 6009298100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had (TsHY [ 3IER0 HT §

2. % Had 5HY [ 3R 11 IR IR §
3. ¢ Had By 11 3R 111 3II¥RU Hd §
4. % f} fBY 1, 11 3R 111 SR 6% §

Question Number : 18 Question Id : 6009298101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following number series:

28,41, 55,73,92
Options :

1. % 41

2.9 55

3. % 73

4, % 92

Question Number : 18 Question Id : 6009298101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad e gae § 7Terd ug A1d




28,41, 55,73,92
Options :

1. # 41

2.9 55

3. 73

4. % 92

Question Number : 19 Question Id : 6009298102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

18:162::26:7
Options :
1. ¥ 338
2. % 468
3. % 572
4. % 342

Question Number : 19 Question Id : 6009298102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y fawed o1 T o Sl TR Ue I S TR J Fefdd § 1 TR I g¥R1 U Ugd Ue § Wefid B

18:162::26:7
Options :
1. ¥ 338
2. % 468
3. % 572
4. % 342

Question Number : 20 Question Id : 6009298103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2x - 8 <y - 2, then which of the following identitites are true?
Options :

. % 2x-y>6

2. % 2x-y>10

3. % 2x -y <10

4. ¥ 2x-y<6

Question Number : 20 Question Id : 6009298103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 2x - 8 <y - 2 8, At FufoRea & @ & It gdufie 9a g2

Options :
l. # 2x-y>6
2. % 2x-y>10
3. % 2x -y <10
4, ¥ 2x-y<6

Mental Ability2
Group Number : 2
Group Id : 600929247
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General intelligence and reasoning Ability2

Section Id : 600929393
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929471
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6009298104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

812, 808, 799, , 758,722
Options :
1. % 783
2. % 772
3. % 764
4. % 768

Question Number : 21 Question Id : 6009298104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad gaen & qu ug I1d &
812, 808, 799, , 758,722
Options :

1. % 783



2. % 772
3. % 764
4. % 768

Question Number : 22 Question Id : 6009298105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

143, 195, 255, 323, .
Options :
1. % 400
2. % 356
3. % 399
4. % 408

Question Number : 22 Question Id : 6009298105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRaa S Jadr &1 [ o

143, 195, 255, 323,

Options :

1. # 400

2. % 356

3. ¥ 399

4. % 408

Question Number : 23 Question Id : 6009298106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the greatest five digit number which is divisible by 25, 40 and 75?
Options :



1. * 96000
2. ¥ 99600
3. % 99800
4. % 99999

Question Number : 23 Question Id : 6009298106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oY S UTF 3ich T T3 &1 g Sl 25, 40 3R 75 ¥ U 82
Options :

1. # 96000

2. % 99600

3. % 99800

4. % 99999

Question Number : 24 Question Id : 6009298107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If21@15=9,37@11 =12,45@]15 = 15, then 56(@40 =?
Options :

1. % 18

2. % 21

3. % 12

4. ¥ 24

Question Number : 24 Question Id : 6009298107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 21@15=9, 37@11 = 12, 45@15 = 15 §, Al 56@40 =2
Options :

1. % 18



2. % 21
3.% 12
4.9 24

Question Number : 25 Question Id : 6009298108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between plants, climbers plants, money plants?
Options :

1. ¢



Question Number : 25 Question Id : 6009298108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafied & @ &1 91 9 3@ Ui, Foter Wic, T Wic & o & YaY & a9 a7 &21idl 82




Options :

1.¢¥



Question Number : 26 Question Id : 6009298109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students who learn Jazz, Ballet and Classical. There are 150 students in the class. How many of
these students did not learn any of the dance forms?

Jazz ﬁ Ballet
28

Classical

Options :



1. * 4
2. % 18
3.2
4. % 20

Question Number : 26 Question Id : 6009298109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gq%gwﬁﬁ,ﬁﬁmm%ﬁwﬁmmﬂé%w&nﬁ 150 B 81 378 & fobd= B A 7 & ot i =y

EE o

\/

AT

Options :
1. % 4
2. % 18
3.2
4. % 20

Question Number : 27 Question Id : 6009298110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following figure, triangle represents doctors, square represents lawyers, circle represents housewives. Which area represents doctors who
are neither housewives nor lawyers?

/ D

Options :
1. % B
2.9 C
3.%D
4. % E

Question Number : 27 Question Id : 6009298110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad siefa 8, By fafras! &1 ufafAfia ordr g, avf doial o1 ufafafea @ 8, 3 iR &1 ufafAfia srar g1 s ar e
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Options :
1. % B
2.¥C
3.%D
4. % B

Question Number : 28 Question Id : 6009298111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between currency, dinar, euro?
Options :



2. 8

©c

000

Question Number : 28 Question Id : 6009298111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad & O 19 T 37 3R 4T, SR, T & o & Yo &1 qad 31T o=Ifdl 82

Options :



O
QO



4, %

Question Number : 29 Question Id : 6009298112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yash walked 45 m towards the North direction. Then he turned west and walked 30 m. Then he turned south and walked 15 m. Finally turning to
the east, he walked 30 m. In which direction is he from the starting point?

Options :
1. * South
2. ¥ North
3. % East
4. % West

Question Number : 29 Question Id : 6009298112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR =M B} 3R 45 m TadT 21 R 98 UfEH &1 3R T 3R 30 m =7l | R 8 01 Bt 3R ToT 3R 15 m FaT| 3MRARBR gd Bt
3R 4Sd Y, 98 30 m d% dal | Y337 foig ¥, 98 fora fazm A g2

Options :

1. % Gfaror

2. % 3}

3. % gd

4. % Uiy

Question Number : 30 Question Id : 6009298113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sameer walks 40 m towards East and turns to right and walks 20 m. Then he turns to the right and walks 18 m. Then, he turns to right and walks
10 m. Then he turns to left and walks 24 m and then he turns to right and walks 12 m. Now to which direction is Sundar facing?



Options :
1. # East
2. % West
3. % North
4. ¥ South

Question Number : 30 Question Id : 6009298113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR qd &1 3R 40 m I & 3R &T¢ TSaT g 3R 20 m IAd1 8 | TR a8 ars IR GSa1 8 3R 18 m Tadl ¢ | fhR, a8 313 SR 31§ 3R
%Omaa?nélfﬁmagaﬁehvasm%eh?Mmaw%eﬁ?fﬁwagaésma@m%sm12m%|a?n%|&Wwwaam%mﬁem
X

Options :

1. % gd

2. % gigy

3. ¥ IW

4. % GIafom

Question Number : 31 Question Id : 6009298114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kishore walks 8 km towards the north, then turns towards his left and walks for 6 km. He again turns left and walks for 8 km. Then, he turns to
his right and walks for 8 km. Where is he standing now with respect to the starting point?

Options :

1. ¥ 14 km west
2. % 6 km south
3. % 8 km west
4. ® 12 km north

Question Number : 31 Question Id : 6009298114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fH R IR P 3R 8 km IAT &, TR ST T2 3R TS § 3R 6 km TP I ¢ | 98 b T ST ST § 3R 8 km T Iadl g | fhx, T8
3T qT3 3R ST § 3R 8 km T & | 31§ T8 Y31l fog & &Y H Hgl W 82

Options :

1. ¥ 14 km UIZH

2. % 6 km Gf&UT

3. % 8 km UigH

4. % 12 km 3R

Question Number : 32 Question Id : 6009298115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heema and Seema who are 1.5 km apart start walking towards each other. Heema walks for 0.25 km and takes a right turn and then walks 0.15
km. She then turns left and then walks for another 0.25 km and then turns left again and walks 0.15 km. In the mean time, Seema walked only
0.35 km. What would be the distance between Seema and Heema now?

Options :

1. # 0.90 km
2. % 0.85 km
3. % 0.75 km
4.9 0.65 km

Question Number : 32 Question Id : 6009298115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eﬁmaﬁ“\f%ﬁmwkmg‘@rwwﬁ\%ﬁvdm—uﬂ@ A & | BT 0.25 km I Fad! g 3R ¢ g3t § 3R R 0.15 km Tl 81 98 R
¢ TSt § 3R 0.25 km I Td § 3R a8 bR Th SR &1¢ TSt § 31K 0.25 km TP ! ¢ 39 9, THT Had 0.35 km el | 3 T

ﬁém%aﬁaﬁg‘ﬁwm?

Options :

1. # 0.90 km

2. % 0.85 km

3. # 0.75 km

4. % 0.65 km




Question Number : 33 Question Id : 6009298116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.

26 | 16 | 22

54 | 48 | 58

1| 8] 2

Options :
1. ¥ -7
2. % 36
3.% 10
4. % 11

Question Number : 33 Question Id : 6009298116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Aty o qu siiwsT I1d B

26 16 22
54 | 48 | 58
A -8 2




1.¥ -7
2. % .36
3.% 10
4. % 11

Question Number : 34 Question Id : 6009298117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

®e® x| xe® e|xe X

X o |00 x|®ex e

oo o |0 x eo|e®ee X ?
o0 X |oe o0 e X i
®0 00 | ®X X0 |X OO X
Options :

X X »

X ) X

X ® @

o0 %
e XX x X

® X X

o0 ®

X @ X

® X s
.| xXeeee



X @ X
® X ]
X @ X
® X X
3 X ® @& X
X X
@ @
X X
® ®
L % X0X® XO®

Question Number : 34 Question Id : 6009298117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 P SR 3efa Uy 3efa Bt 4Raa BT T Hal 82

e x|xe eo|xe x
ex o|[oe x|ex e
oo o (0 x eo|0e X ?
ee x|ee ofloee x
0o (o xxeo|xeoe x

Options :



® X ® @ X

X X
o @
X e
e ¢
X XX

X @ X009

X9 0 X0
® 0 X @ X

@ X X X

® X O® X @
X @ X @ X

3.¢¥




Question Number : 35 Question Id : 6009298118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

— —

l
1

Options :

!

!

|




|

l

l

Question Number : 35 Question Id : 6009298118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed &1 79 o S et Bfa T 3 veR T Tefdrd § o TR 3 gl i ugeh ofa @ Gefid 31
— —

Options :



L
N

11
Ll

| [




Question Number : 36 Question Id : 6009298119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

(m | —@ (m) o

(A) (B) (C) (D)
Options :
1. % A
2.% B
3. % C
4. %D

Question Number : 36 Question Id : 6009298119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRyd & ¥ &9 9 fadhed 4aar § Tad SHid 82

(A) (B) (C) (D)

Options :



1. * A
2.% B
3. % C
4.¥ D

Question Number : 37 Question Id : 6009298120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

/\

/

s




Question Number : 37 Question Id : 6009298120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR AIHIA W, I 3Mp T BT I99 o3 Ford Uy 3nepfa fodafafea g

Options :




2




Question Number : 38 Question Id : 6009298121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures is the water image of the question figure?

* % % |]O0 Q00
* % % ]0 00

+ + | - -
+ + | - -
+ + | - -
Options :
LI PR
L PR
+ +
~ |ooo
_ _Jooo
|, %
- - |+ +
- - |+ +
- - |+ +
coo|x %%
coo|x %%
2. ®




O 0O0|¥ ¥ w
C OO0 * %

++ +
+ + +
|
|

# % w |OOC O
wuw oW OO0 O

Question Number : 38 Question Id : 6009298121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfaRad @ 9 & IO SR SHid Uy 3epfd &1 oa ufafdd g2

* % % |]0 Q0
% v |0 OO0

+ + | - -
+ + | - -
+ + | - -

Options :




++ +
++ +

o 00
o O C

c 00
OO0

++ +
+ + +

L -

OO0 O
O 0O




Question Number : 39 Question Id : 6009298122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to complete the question figure?

L] L]

=

Options :




Question Number : 39 Question Id : 6009298122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 3 o W SR 3pfa Yo &1 U8 3MHid B R B & oIy SireT oI Tebar 82
] L

Options :



AN ,,



Question Number : 40 Question Id : 6009298123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of triangles are there in the given question figure?

Options :
1. ¥ 22
2. % 28
3. % 18
4. % 16

Question Number : 40 Question Id : 6009298123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 7S Uy 3 fa & AYS &1 siftiedw e a1 82

Options :
1. ¥ 22
2. % 28
3. % 18



4. % 16

General Awarenessl

Group Number : 3

Group Id : 600929248
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 600929394
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929472
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6009298124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following monuments is not built by Shah Jahan?



Options :

1. # Jama Masjid
2. ¥ Sati Burj

3. % Moti Masjid
4. # Red Fort

Question Number : 41 Question Id : 6009298124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifed WRS! § ¥ 314 91 218 98! gR1 AfHd 781 82
Options :

1. % S A&Sg

2. ¢ Fal gl

3. % Hid ARSIg

4. % T fobell

Question Number : 42 Question Id : 6009298125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Dhangar dance form is performed by the shepherd community of which of the following states?
Options :

1. ¥ Goa

2. % Tamil Nadu

3. # Andhra Pradesh

4. ¥ Madhya Pradesh

Question Number : 42 Question Id : 6009298125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 7T ¥U H1 U= Fafeiad 3 4 forg o9 & TRaTeT 9/ g fova STl 82

Options :




1.« Tar

2. % A TG
3. % 3R YSY
4. % A YIS

Question Number : 43 Question Id : 6009298126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following folk music is generally about women fetching water from the nearby well and carrying the water back to their
households in matkas over their head?

Options :

1. ¥ Maand

2. # Pandavani
3. % Panihari

4. % Lavani

Question Number : 43 Question Id : 6009298126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Profad die Sl & @ B 1 38 AR W AfRerel % o & & o 0 50 & ol el § R o RR W Ao & o o o R A
q o S 62

Options :

1. % H8

2. % Ggart

3. ¢ ORI

4, % raut

Question Number : 44 Question Id : 6009298127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following states is the Gudi Padwa festival celebrated on a large scale?
Options :



1. ¥ West Bengal
2. % Punjab
3. # Gujarat
4. ¥ Mabharashtra

Question Number : 44 Question Id : 6009298127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ &Y 50 § o1 ©9 ¥ T[S UTSdl &1 AR H1a1 Sl 82
Options :

1. % Tigw §re

2. % U

3. % TR

4. ¥ TERTY

Question Number : 45 Question Id : 6009298128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gross National Income per capita =

Options :

1. #® Net Domestic Income / Total Population
2. % Net National Income / Total Population
3. ¥ Gross National Income / Total Population

4. ® Gross Domestic Income / Total Population

Question Number : 45 Question Id : 6009298128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
yfdeaieR] Tebel JASIY 31T =

Options :
1. % TG O 3T/ Hd STEEAT




2. % Y AP 3T/ Hof SHESAT
3. ¢ Yhol AP 3/ Sl ST
4. % Fobdl I 3T/ ol SIS

Question Number : 46 Question Id : 6009298129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Economic Survey 2020-21, India's economy will have a shaped recovery post June 2021 spurred by the Covid
vaccination drive.

Options :
1.¥V
2. % W
3.% K
4. % U

Question Number : 46 Question Id : 6009298129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T FAEMTT 2020-21 & TR, HRA P TR Bl HITAS SIDHIHRUN AU GRI THR T AU S 2021 & §IG
fers &l

Options :

1.¥V

2. % W

3.8 K

4.% U

Question Number : 47 Question Id : 6009298130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced by India's Finance minister Nirmala Sitharaman in the Budget 2021, four Indian astronauts are being trained on Generic Space
Flight aspects, in , as part of the Gaganyaan mission activities.

Options :



1. ¥ Russia
2. * United States of America

3. * France
4. % China

Question Number : 47 Question Id : 6009298130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 foh &15Te 2021 # YRd &1 fa it ffr Sarmee = givon & off, TR yRdRa Tl o ma e afafafial & R & =4
¥ AR O woiEe vggel W Ui R <er 2

Options :
1. ¥ Y
2. % TG Iy 3ARBT
3. % Tl
4. % 94

Question Number : 48 Question Id : 6009298131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The long term rate at which Reserve Bank of India lends to bank is called
Options :

1. % Call rate

2. # Reserve Repo rate

3. ¥ Repo rate

4. % Bank rate

Question Number : 48 Question Id : 6009298131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR Rord o forg dtafafll & )R o &1 B ¢dr g 3 EISIGIG]

Options :




1. % BlAC
2. % Red YaI e
3. ¥ IC
4. % dH T

Question Number : 49 Question Id : 6009298132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we buy a product from a different country and import it to India, then we have to pay tax on it. This tax is called
Options :

1. # Capital Gains Tax

2. ¥ Customs Duty

3. % Sales Tax

4. % Corporate Tax

Question Number : 49 Question Id : 6009298132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁwﬁg@%ﬁ@m@ﬂaﬁ%aﬁw@r%ﬁ&mmﬁ%‘,?ﬁeﬁwwméﬂawsﬂaﬂﬁ Sl Sl
|

Options :

1. % GoiRTd U PR
2. ¢ T Yeb

3. % fdehl IR

4. % HIONC P

Question Number : 50 Question Id : 6009298133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Microphone, sound energy is converted to energy.
Options :



1. ¥ electrical
2. # chemical
3. # mechanical
4. * wind

Question Number : 50 Question Id : 6009298133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI B, e~ FHuif b St & ufkafedd fasar srar g
Options :

1. ¢ fagga

2. % IS

3. % GifAd

4. % 4dq

Question Number : 51 Question Id : 6009298134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is known as laughing gas?
Options :

1. # Calcium oxide

2. % Sulphuric acid

3. % Nitrous oxide

4. % Ferric oxide

Question Number : 51 Question Id : 6009298134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 9 {53 anfthe 19 & U H ST S1dr 82
Options :

1. % BRI RS




2. ® TR[BIA
3. ¥ A1SCY JRIZS
4. % BHRP ATHRS

Question Number : 52 Question Id : 6009298135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of Arthropods phylum?
Options :

1. * Hydras

2. % Starfish

3. # Earthworms

4. ¥ Butterflies

Question Number : 52 Question Id : 6009298135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafiRed # 9 $19 9fRUTE 9 3T 3a6R0 52
Options :

1. % S (IR SI)

2. % AR

3. % gl

4. ¢ faad

Question Number : 53 Question Id : 6009298136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Dudhwa National Park is located in which of the following states?
Options :

1. # Andhra Pradesh

2. % Uttar Pradesh



3. % Gujarat
4. ¥ West Bengal

Question Number : 53 Question Id : 6009298136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gyaT AP S fafafed § 9 forw s 8§ Ry &
Options :

1. % SR UCY

2. ¥ IW UK

3. % ToRId

4. % g SIS

Question Number : 54 Question Id : 6009298137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Peechi Dam, built across Manali river, is located in which of the following states?
Options :

1. # Uttar Pradesh

2. % Karnataka

3. # Maharashtra

4. ¢ Kerala

Question Number : 54 Question Id : 6009298137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR A TR S T i sy, Frefied § 9 o s d Rya @2
Options :

1. % IW UG

2. % FlcH

3. % HeRIY



4. ¥ P

Question Number : 55 Question Id : 6009298138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arma Konda peak of Andhra Pradesh, is situated in which of the following mountain ranges?
Options :

1. ¥ Eastern Ghats

2. % Western Ghats

3. % Aravalli range

4. # Karakoram range

Question Number : 55 Question Id : 6009298138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TC=I 1 SRHAT HieT die, FafaRad & 9 fbg udammen # fRud 82
Options :

1. v gdfare

2. % gfgH U1e

3. % SRTaRl UITHT

4, % HRIGRH GdTHT

Question Number : 56 Question Id : 6009298139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Konar river is a tributary of which of the following rivers?
Options :

1. # Krishna

2. # Chenab

3. ¥ Damodar

4. % Ravi



Question Number : 56 Question Id : 6009298139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHR ¢! Fafiad & ¥ f5g 98 3T 3u=dl 82
Options :

1. % W

2. % Tqd

3. ¥ QIR

4. % 3fq

Question Number : 57 Question Id : 6009298140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the most productive (fertile) category of soil?
Options :

1. % Arid

2. % Alluvial

3. # Laterite

4. % Red

Question Number : 57 Question Id : 6009298140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & gal &t 99 e IdTes (IUSTiS) 4t 82
Options :

1. # X[&h

2. ¢ TAIg

3. % TCRIRC

4. % flcd




Question Number : 58 Question Id : 6009298141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of zaid crops?
Options :

1. # Millets

2. # Rice

3. #* Barley

4. ¥ Cucumber

Question Number : 58 Question Id : 6009298141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafifed & 9 31 @ 9rg 1 Bad 1 Th 3a6I0 67

Options :
1. % deRR
2. % d[dd
3. % S
4. QR

Question Number : 59 Question Id : 6009298142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Battle of Samugarh fought between Aurangzeb and Dara Shikoh?
Options :

1. ® 1669

2. % 1685

3. ¥ 1658

4. % 1642

Question Number : 59 Question Id : 6009298142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRS 3R ERT RIDIE & o9 AITG H1 IS Hd AST T U1?
Options :

1. % 1669

2. % 1685

3. ¥ 1658

4. % 1642

Question Number : 60 Question Id : 6009298143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the President of the Calcutta session of the Indian National Congress in 1917?
Options :

1. # Dadabhai Naoroji

2. # Bal Gangadhar Tilak

3. # Lala Lajpat Rai

4. ¥ Annic Besant

Question Number : 60 Question Id : 6009298143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed 7 3 o, 1917 H R TP S1UY & Sadbdl SHUaRM & el A2
Options :

1. % TIGIYTE ARISH

2. % 9T TMeR foefep

3. % fTedl oISy d I

4.« ST

General Awareness2
Group Number : 4



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 61 Question Id : 6009298144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

600929249

General Awareness2

600929395
1

Online
Mandatory
20

20

20

Yes

1
600929473
Yes

Which among the following consists of the speeches and messages of the Buddha?

Options :

1. ¥ Sutta pitaka
2. # QGrihya sutras
3. * Rigveda

4. % Dharmasutras



Question Number : 61 Question Id : 6009298144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead 9 fora o g & v SR wew fAfga ¥
Options :

1.« gdiUch

2. % TR

3. % 3G

4. % YT

Question Number : 62 Question Id : 6009298145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following adopted the title of Vikramaditya as a mark of victory over the Shaka Kshatrapas of Western India?
Options :

1. # Chandragupta I

2. % Chandragupta II

3. ¥ Kumaragupta I

4. # Skandagupta

Question Number : 62 Question Id : 6009298145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad # @ fogq fashriiae o1 Iurfa 1 ufdt yRd & e &mdl W fasrg & fog & U # o
Options :

1. % T 1

2. ¢ T I

3. % PHRE

4. ® Ih-I[Wd



Question Number : 63 Question Id : 6009298146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first and last Indian Governor-General of India?
Options :

1. * Subhas Chandra Bose

2. % Mahatma Gandhi

3. ¥ Chakravarti Rajagopalachari

4. % Jawaharlal Nehru

Question Number : 63 Question Id : 6009298146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRed & I D19 URA & Ugd 3R i YR AERSIUTd T2
Options :

1. % YN I= 919

2. % HETHT it

3. ¢ Fehad! A NUTATERT

4. % SQIEATd g%

Question Number : 64 Question Id : 6009298147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is also remembered as lakhbaksh or giver of lakhs, because of his generosity?
Options :

1. # Ghiyas ud-Din Tughluq

2. % Ala-ud-din Khalji

3. % Iltutmish

4. ¥ Qutb al-Din Aibak

Question Number : 64 Question Id : 6009298147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

5T ITP! ISRAT B HRUI, ARGEBY T ARGI P aTdl & U H ITE T ST 82
Options :

1. % TgE i
2. % 3efl-3a-fe Raersit
3. % Foqaus

4. ¥ B 3 H T

Question Number : 65 Question Id : 6009298148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Dadasaheb Phalke International Film Festival Award in the category of Best Actor Female in 20217
Options :

1. ¥ Deepika Padukone

2. # Kiara Advani

3. % Kangana Ranaut

4. % Janhvi Kapoor

Question Number : 65 Question Id : 6009298148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered # 9 fobg 2021 H FA9Y SHiEH Al H1 4UT H SERTd Bl RIS theH HEldd JRPR Sild1?

Options :

1. ¢ ST aIghivn
2. % fHgRT STt
3. ® HIET AUMId

4. % SIgdl PR

Question Number : 66 Question Id : 6009298149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Pramod Sawant is the Chief Minister of which of the following states as of February 20217
Options :

1. # Haryana

2. % Kerala

3. ¥ Goa

4. ® Gujarat

Question Number : 66 Question Id : 6009298149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRas! 2021 I THIG AT fFafaRad & § fod Ioa & erEt 82
Options :

1. % giamom

2. % B

3. Tl

4, % TSRId

Question Number : 67 Question Id : 6009298150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Hound of the Baskervilles' is written by which of the following authors?
Options :

1. ¥ Arthur Conan Doyle

2. # Agatha Christie

3. % Margaret Atwood

4. # Harper Lee

Question Number : 67 Question Id : 6009298150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G BI3S 3t g IR forg o g1 fordt 715 82

Options :



1. ¢ 3R HiA S1ad
2. % 3ATTYT fehect

3. % AFRC Uegs

4, % GIOR it

Question Number : 68 Question Id : 6009298151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Long Walk to Freedom' is the autobiography of which of the following famous personalities?
Options :

1. # Mahatma Gandhi

2. ¥ Nelson Mandela

3. % Jawaharlal Nehru

4. # Barack Obama

Question Number : 68 Question Id : 6009298151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gl ¢ Wiew Fafeied d 9 ford uRig aafad &1 sTH YT 82
Options :

1. % HETEHT Tieht

2. ¢ A Hedl

3. % S[ATERAd A

4. % g NETHT

Question Number : 69 Question Id : 6009298152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Abel Prize is awarded for the achievement in the field of

Options :

1. % music



2. % peace
3. # literature

4. ¥ mathematics

Question Number : 69 Question Id : 6009298152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T RIPR F &7 § Iuaisy & fow ueH fhar S g1

Options :
1. % gUiid
2. % qifd
3. % gligd
4. IO

Question Number : 70 Question Id : 6009298153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following gave the slogan of "Freedom is my birthright, and I shall have it"?
Options :

1. ¥ Jawaharlal Nehru

2. % Mahatma Gandhi

3. ¥ Bal Gangadhar Tilak

4. ¥ Subhas Chandra Bose

Question Number : 70 Question Id : 6009298153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 forem RS IR1 ARG SIS 7, 3R H 38 dahx g &1 AR feam um
Options :

1. % SATERAd Hg%

2. % HETEHT it




3.« §1d TMeR fad®
4, % QUN =% 99

Question Number : 71 Question Id : 6009298154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the chairman of "Provincial Constitution Committee " of the Constituent Assembly?
Options :

1. % Jawaharlal Nehru

2. % B.R. Ambedkar

3. # Sachchidananda Sinha

4. ¥ Sardar Vallabhbhai Patel

Question Number : 71 Question Id : 6009298154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed § 3 o dfaum gyt ot gidia iy afifar & sreer &
Options :

1. % SIdTERAld A8

2. % . 3R, TISHY

3. % g Rl
4. ¢ TRER IEAHHTS U

Question Number : 72 Question Id : 6009298155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments incorporated Dadra and Nagar Haveli in the Indian Union?
Options :

1. % 10th

2. % 15th

3. % 20th



4. %= 25th

Question Number : 72 Question Id : 6009298155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Jaue el § 3 foram gresT ok TR gael & YR w9 & it foean
Options :

1. 10d

2. % 159

3. % 20d

4. % 25q

Question Number : 73 Question Id : 6009298156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Constituent Assembly adopt the song "Jana Gana Mana" as the national anthem of India?
Options :

1. % 1949

2. %1950

3. % 1952

4. % 1948

Question Number : 73 Question Id : 6009298156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg oy ® AU FHT = ST 707 F I bl HIR o AP b =Y H SO T 2
Options :

1. % 1949

2.9 1950

3. % 1952

4. % 1948




Question Number : 74 Question Id : 6009298157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendment provided for an authoritative text of the Constitution in Hindi language and gave the
same legal sanctity to the Hindi version of the Constitution?

Options :
1. ¥ 58th
2. % 36th
3. % 72nd
4. % 8lst

Question Number : 74 Question Id : 6009298157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad Sanfe i o 3 feaa R v & Tfdum & e snfieie ure & forg uraym faar ok dfaum & R e &l v
TS YT T S

Options :

1. ¢ 584

2. % 36d

3. % 72d

4. % 81d

Question Number : 75 Question Id : 6009298158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Schedules in the Indian Constitution contains the powers, authority and responsibilities of Municipalities?
Options :

1. # Eleventh

2. % Ninth

3. ¥ Twelfth

4. % Tenth



Question Number : 75 Question Id : 6009298158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Sfaum & fFafaied srogfodt & 9 forad RuTieraTsil &1 T, SifieR iR forderial wnfid g2
Options :

1. ¥ YRgd

2. % id

3. ¥ IRgd

4, % THd

Question Number : 76 Question Id : 6009298159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kolkata Knight Riders has won the Indian Premier League (IPL) times till February 2021.
Options :

1. * one

2. ¥ two

3. * three

4. * four

Question Number : 76 Question Id : 6009298159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRAR 2021 dF HIAGIAl A13C IZ8Y A Sfeg WiErR o (1pL) IR S|
Options :

1. % U

2.3

3. % diF

4, % TR




Question Number : 77 Question Id : 6009298160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first recipient of Rajiv Gandhi Khel Ratna Award?
Options :

1. ¥ Vishwanathan Anand

2. # Geet Sethi

3. ¥ Homi Motivala

4. % Leander Paes

Question Number : 77 Question Id : 6009298160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaiad o @ ®F ola el We 3@ [REBR BT U Ui U1
Options :

1. ¢ fa8Ty 3imHe

2. % Ttd 4l

3. % gIE! Hidtaran

4. % fCERUY

Question Number : 78 Question Id : 6009298161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries will host the FIFA World Cup 2022?
Options :

1. # Brazil

2. ®% Canada

3. % Russia

4, ¢ Qatar

Question Number : 78 Question Id : 6009298161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faferiad T2 7 @ o Wit 3y & 2022 B ASEH HI
Options :

1. % §oitd

2. % HATSI

3. % g

4. % Hdx

Question Number : 79 Question Id : 6009298162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Irani Cup is associated with which of the following sports?
Options :

1. # Tennis

2. # Football

3. % Cricket

4. # Hockey

Question Number : 79 Question Id : 6009298162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R BU Fafafed 3 3 fow @ 4 9182

Options :
1. % 49
2. % pedld
3.+ e
4. % glal

Question Number : 80 Question Id : 6009298163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following countries will host the 2021 ICC Men's T20 World Cup?
Options :

1. * England

2. % Australia

3. % India

4. % New Zealand

Question Number : 80 Question Id : 6009298163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 32 & § & 2021 MEART (1cC) T3W Eho fay HU o1 Asar B2

Options :

1. % QU

2. % fiReferar

3. % HRd

4. % Y03
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Question Number : 81 Question Id : 6009298164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of (60 percent of 3500) + {(20 percent of 1225) + 5}.
Options :

1. ® 1849

2.9 2149

3. % 2219

4. % 1964

Question Number : 81 Question Id : 6009298164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(3500 BT 60 TR ) + {(1225 BT 20 TR + 5} BT A J1d B
Options :

1. * 1849

2.9 2149

3. % 2219

4. % 1964



Question Number : 82 Question Id : 6009298165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of 529 x 529 + 471 x 471 - 6 x 529 x 471 +4 x 529 x 471.
Options :

1. % 2276

2. % 1084

3. % 3684

4. ¥ 3364

Question Number : 82 Question Id : 6009298165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

529 x 529 + 471 x 471 - 6 x 529 x 471 + 4 x 529 x 471 W1 A T D |
Options :

1. % 2276

2. % 1084

3. % 3684

4, ¥ 3364

Question Number : 83 Question Id : 6009298166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of 23/10 + [(23/6) + { 17/3 - (3/2 + 5/2)}].
Options :

1.* 0

2.¥ |

3.%3

4. % 4

Question Number : 83 Question Id : 6009298166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

23/10 = [(23/6) + 17 {17/3 - (3/2 + 5/2)}] D1 AT 1 DY |
Options :

1.* 0

2.9 ]

3.%3

4. % 4

Question Number : 84 Question Id : 6009298167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P=0.353535.... And Q = 0.646464.... , then find the value of (P + Q) 3,
Options :

1.*0

2.9 1

3.% 4

4. %5

Question Number : 84 Question Id : 6009298167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg P =0.353535... GaTQ =0.646464... %,?‘ﬁ(P +Q) 3D GH JTd DR
Options :

1.*0

2.¥ 1

3.% 4

4. %5

Question Number : 85 Question Id : 6009298168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the largest number of the five digit which is exactly divisible by 48, 72 and 108.
Options :

1. # 99584

2. % 99652

3. % 99792

4. % 99664

Question Number : 85 Question Id : 6009298168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31 Tad Ta1 THT JTd HY ol 48, 72 3R 108  faewpd faursa g1
Options :

1. % 99584

2. % 99652

3. ¥ 99792

4. % 99664

Question Number : 86 Question Id : 6009298169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first and last term of an Arithmetic progression is x and y respectively. What is the average of that Arithmetic progression?
Options :

1. % xy/2

2. % (x-y)2

3. % (xty)4d

4. ¢ (x+ty)2

Question Number : 86 Question Id : 6009298169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR Y07 T Ugel 3R 3ifaH Ue HHE: x 3R y 8 1 39 FHTR Juft &7 37 ad &1 82
Options :



1. #® xy/2

2. % (x-y)2
3. % (x+y)4
4. ¥ (x +y)/2

Question Number : 87 Question Id : 6009298170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Successive discounts of 20.1 percent and 10.1 percent are equivalent to a single discount of:
Options :

1. # 28.57 percent

2. # 27.15 percent

3. % 28.17 percent

4. % 29.25 percent

Question Number : 87 Question Id : 6009298170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20.1 UfA=Id 3R 10.1 UfIRId &1 HHD Fe, Th Thd Je b T 8:
Options :

1. % 28.57 Ufard

2. % 27.15 gfa=rd

3. 28.17 Ufa=Id

4. % 2925 Ufd=rd

Question Number : 88 Question Id : 6009298171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a man weighing 90 kg joins a group of n people the average weight of the group increases by 2. But if a man weighing 60 kg joins the group
the average weight drops by 3. Find n.

Options :
1. % 6



2.¥5
3.9
4. %3

Question Number : 88 Question Id : 6009298171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 90 kg IO BT Afad, n AT & THE H AMH BT €, ) T BT Sd Ioi 2 Y §¢ Il g | Al Al 60 kg ToI AT Blg TG TG
o et gt 8 @t SiId a1 3 Y HH B ST | | n 1 B

Options :

1. %6

2.¥5

3.%9

4. % 3

Question Number : 89 Question Id : 6009298172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bookseller had some pens. He sells 70 percent of the pens. If the difference between the total pens and the number of pens sold is15, then find
the number of total pens.

Options :
1. #* 100
2. %75
3.¥50
4. % 25

Question Number : 89 Question Id : 6009298172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS e daar & I $© S U | a8 HAH b1 70 UA=Id 99dl 5| Al $d Had R ol T3 Hod DI ST & & BT 3R 15 5, dl
S HAH DI AT J1d PR

Options :




1. # 100
2. %75
3.9 50
4. % 25

Question Number : 90 Question Id : 6009298173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number is increased successively by 30 percent and 40 percent to get 'x' and if the same number is decreased successively by 30 percent and
40 percent to get 'y', then what is the ratio of x : y?

Options :
1.% 7:1
2. % 41:30
3. % 51:29
4. ¥ 13:3

Question Number : 90 Question Id : 6009298173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e x U HRA & forg ot e o e 30 Ufawra iR 40 Ufawrd @) g &t St 8 8k afe 1y o vt & forg It ke & ffes 30
TI=TA 3R 40 TA=Td &t HH B AR &, T x : y BT SIATT T 62

Options :

1. % 7:1

2. % 41:30

3. % 51:29

4.¥13:3

Question Number : 91 Question Id : 6009298174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the total bags, 30 percent of the bags are green coloured. 30 percent of the remaining bags are red coloured. 40 percent of the remaining
bags are yellow coloured. The remaining 1176 bags are blue coloured. How many total bags are there?



Options :
1. % 3000
2. % 4000
3. % 5000
4. % 6000

Question Number : 91 Question Id : 6009298174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%éﬂaﬁg,30%%@@1%%@&%@30@%%@%%@Néﬂmmuﬁmauﬁiﬂ%%lQﬁﬁfnméﬁﬂﬁ@%%‘lw
9

Options :

1. % 3000

2. ¢ 4000

3. % 5000

4. % 6000

Question Number : 92 Question Id : 6009298175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper buys 5 apples for a cost of Rs. 35 each. He gained a total profit of Rs. 85. What is the selling price of each apple?
Options :

1. ¥ Rs. 52

2. % Rs. 42

3. % Rs. 48

4. % Rs. 56

Question Number : 92 Question Id : 6009298175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER YD 35 SUT B AN U 5 Jd WRIGdl & | 3 85 TUU BT Hd A1 WK g3HT| TP Id &1 fashd Yo o1 82

Options :



1. ¥ 52%UQ
2. % 424U
3. % 48 %UU
4. % 56 o490

Question Number : 93 Question Id : 6009298176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article has a marked price of Rs. 7200 and is available at a discount of 20 percent. The shopkeeper gives another discount to the buyer and
sells the article for Rs. 4896. What is the second discount (in percent) offered?

Options :
1. ® 20
2. % 12
3.¥ 15
4. % 10

Question Number : 93 Question Id : 6009298176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o] BT AR Hed 7200 YT R 3R 20 YA B Fe W IUAS B | SHMER TR B Ueb 3R T ST & 3R % B 4896 YT H
ST 5| 1 TS GERT ge (Me=Td H) 1 82

Options :
1. # 20
2. % 12
3.¥ 15
4. % 10

Question Number : 94 Question Id : 6009298177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kaliya and Bheem invested Rs. 85000 and Rs. 75000 respectively in a business and agree that 60 percent of the profit should be divided equally
between them and the remaining profit will be divided according to the ratio of their capitals. If Kaliya gets Rs. 560 more than Bheem, then find



the total profit.
Options :

1. # Rs. 12960
2. % Rs. 18400
3. # Rs. 8960
4, ¥ Rs. 22400

Question Number : 94 Question Id : 6009298177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wiferar 3R HiH 7 Ue Saar # HHR: 85000 TUT 3R 75000 TUT AW fT 3R 39 o1 T TeHd U fob a4 BT 60 UfA=Id 36 o
T =0 ¥ faHTTd foram ST amfey 3R [ AT &1 3! Goril & SFUTd o SR faTiord fasar smaem | afe siferar &t 4T 4 560
UL 31 e &, df Ha oy J1d He

Options :

1. % 12960 ¥UY

2. % 18400 TUT

3. % 8960 ¥UY

4. ¥ 22400 3TT

Question Number : 95 Question Id : 6009298178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wholesaler sold his goods to a shopkeeper at 20 percent loss. The shopkeeper marks his goods at 50 percent more than their original cost price
and allows a discount of 30 percent on the marked price. What is the profit percentage of the shopkeeper?

Options :

1. # 25.5 percent
2. ¥ 31.25 percent
3. # 40.5 percent
4. % 10.5 percent

Question Number : 95 Question Id : 6009298178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T Y TURT A 30+ a3 DI Uh gHMGR Dl 20 UARIA BT WR 91| gHMER A 37 ol AT T ¥ 50 Ufa=rd 31feep OR 370t
agafi oI fafed fovan sk fafgd Jea W 30 Ufa=rd &1 ge &t gPMeR &1 arH Ufard o |2

Options :

1. % 255 Ufa=rd
2. ¢ 31.25 Ufa=rd
3. % 40.5 Ufawrd
4. % 10.5 gfa=rd

Question Number : 96 Question Id : 6009298179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C enter into a partnership. A puts Rs. 100 for 3 months, B puts Rs. 200 for 4 months and C puts Rs. 300 for 5 months. Find the ratio of
share of the profits of A, B and C.

Options :

[.%1:2:3
2.93:8:15
3.%6:16:15
4. % 3:8:12

Question Number : 96 Question Id : 6009298179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C U IR A UaW dRd &1 A, 3 HelH & T 100 TUT TIIET B, B, 4 HEIH & T 200 TUT TGN 8 3R C, 5 HeH & 1T 300
FUT AT G| A, B 3R C & ATHl & R o7 3Urd I1d He |

Options :

[.%1:2:3

2.93:8:15

3.%6:16:15

4. % 3:8:12

Question Number : 97 Question Id : 6009298180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the mean proportional between 18 and 8 is A and the third proportional to 3 and 6 is B, then find the mean proportional between A and B.
Options :

1.¥ 12

2.% 10

3. % 15

4. % 20

Question Number : 97 Question Id : 6009298180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 18 3R 8 & &I T AeAr AT @1 TaRHe) A § 3R 3 3R 6 & fu FRRT TN B &, aF A 3R B & o9 &1 ATt
HF A=) 1 B

Options :
1.9 12
2.% 10
3. % 15
4. % 20

Question Number : 98 Question Id : 6009298181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 4P = 3Q and R is 25 percent more than Q and S is 20 percent more than R, then find the ratio of 1/P : 1/Q : 1/R : 1/S.
Options :

1. % 10:25:12:10

2.%24:15:21:10

3.% 20:15:12:17

4, 920:15:12:10

Question Number : 98 Question Id : 6009298181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g 4P = 3Q 8 3R R, Q 25 Ufawra 34f¥ 8 3R S, R ¥ 20 Ufa=ra 3if¥&H 8, a1 1/P: 1/Q : 1/R : 1/S T 3UTA 1 1|
Options :

1.%10:25:12:10

2. % 24:15:21:10

3.%20:15:12:17

4. 920:15:12:10

Question Number : 99 Question Id : 6009298182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A borrowed Rs. 'X' at a compound interest rate of 20 percent per annum for 2 years. The interest amount payable was Rs. 5280. What was the
value of 'X'?

Options :

1. ¥ Rs. 12000
2. % Rs. 11000
3. % Rs. 11750
4, % Rs. 12500

Question Number : 99 Question Id : 6009298182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A2 N & o gfd 98 20 TR &1 Tohgia TS a3 IR X' ¥UT SYR AU | ¢F ST B1 IR 5280 AT A 1. X' BT Hed T UT?
Options :

1. % 12000 >UUT

2. % 11000 >4

3. % 11750 %49

4. % 12500 >4

Question Number : 100 Question Id : 6009298183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sum of Rs. 26000 is to be paid back in 2 equal annual instalments. How much is each instalment if the interest is compounded annually at 8
percent per annum?

Options :

1. # Rs. 14320
2. % Rs. 14230
3. # Rs. 14420
4. ¥ Rs. 14580

Question Number : 100 Question Id : 6009298183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26000 ¥TT P T B 2 TH AT fH=dl H a0 Y o1 ST ¢ | Ife Ul a8 8 Ufa=id &1 ax J Fshgig SaTSl [l SIrdl § <l T
fored ot IR farait &7

Options :
1. % 14320 ®UU
2. % 14230 %UU
3. % 144204
4.+ 14580 %407
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Question Number : 101 Question Id : 6009298184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On investing Rs. 20000 in simple interest for two years, the interest earned is Rs. 190 more than the interest earned when Rs. 13000 is invested in
simple interest for three years, at the same rate. Find the rate of interest (in percent per annum).

Options :
1. % 12
2. %16
3. % 18
4.9 19

Question Number : 101 Question Id : 6009298184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 g & fore YR suTsl H 20000 FUT BT AN B UR, ol fosan a1 sore, 9= & UR, 9 9y & o IreRor &1 § §iF 13000 SUT
9% A WR 31fTa forw U sure & 190 U 31 § | ST & J1d B3 (ufd g ufawrd #)|

Options :

1% 12

2. % 16



3. % 18
4.4 19

Question Number : 102 Question Id : 6009298185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train travelling at the speed of 100km/hr crosses a pole in 45 seconds. Find the length of the train.
Options :

1. % 1240 m

2. % 1248 m

3.4 1250 m

4, % 1244 m

Question Number : 102 Question Id : 6009298185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

100 km/hr 1 T J T B aTel Uh ITTIST 45 A H U TH DI UR Hal o | IS bl daTs J1d He|
Options :

1. ®# 1240 m

2. % 1248 m

3.9 1250 m

4, % 1244 m

Question Number : 103 Question Id : 6009298186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul goes from point A to point B at the speed of 32km/hr and returns at the speed of 28km/hr. It took 8 hours to complete the journey. Find the
(approximate) distance between point A and point B.

Options :

1. # 110.5 km
2. % 114.5 km
3.4 119.5 km



4. % 125.5 km

Question Number : 103 Question Id : 6009298186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gd fdg A ¥ g B d 32 kmy/hr &1 71 ST € 3R 28 kmv/hr 1 7T & G109 31T & | AT I8 v | 8 ©S o1 w3 @ | foig A SR faig
B & §1F () GoI J1d |

Options :

1. % 110.5 km

2. % 1145 km

3.4 119.5km

4. % 125.5km

Question Number : 104 Question Id : 6009298187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat travels 10.8 km upstream in 36 minutes. If the speed of the boat is 21km/hr, then find how much distance the boat will travel in 28
minutes downstream.

Options :

1. # 12 km
2. ¥ 11.2km
3. % 13.2km
4. % 11 km

Question Number : 104 Question Id : 6009298187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 14 36 5 & 10.8 km SHEYATE THT Rl ¢ | TG A1 DT 21 knw/hr 8, T I DX b 719 28 e F srgyrarg & fooa-t g8t aa st
Options :

1. # 12 km

2.% 11.2 km

3. % 132 km



4, % 11 km

Question Number : 105 Question Id : 6009298188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two men start running from a same point in different direction around a circular path of radius 28 meter at the speed of 42 km/hr and 24 km/hr.
After how much time will they meet again at the same place? (Use nt = 22/7)

Options :

1. # 30.4 sec
2. % 65.4sec
3.9 35.2 sec
4. % 754 sec

Question Number : 105 Question Id : 6009298188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3 U B fig O 3ravt fa=m & 42 kn/hr 3R 24 km/hr Y 1Y | 28 Hex FBioan & T MelTdR 0y & IRY 3R Gl TR= 3 g | b
THY 971G 9 TR I S8 | BciT? (n= 22/7 BT TN X )

Options :

1. % 304TFS
2. % 65.4UFS
3. ¢ 352 0FS
4. % 754 b8

Question Number : 106 Question Id : 6009298189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rob and Bob can build a wall together in 3 days. If Rob alone can build the same wall in 12 days, then in how many days can Bob build the wall
alone?

Options :
1. # 2 days
2. % 9 days



3. ¥ 4 days
4. * 8 days

Question Number : 106 Question Id : 6009298189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3d 3R §7e 3 el § u 91y U SlaR 1 FHior o Govd ¢ 1 afe I srbat 12 fai & ) SR &1 e & Iebdr 8, dl §id 3idhd SlaR
&1 Fefur fobam i & &R ghar g2

Options :
1. % 2feq
2. % ofaq
3. ¢ afaA
4. % gfed

Question Number : 107 Question Id : 6009298190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can finish a job in 20 days while B can finish same job in 30 days. A and B both worked for 5 days and C joins them. In next 3.5 days, all three
manage to complete the job. Find in how many days C alone can finish the job.

Options :

1. # 9 days
2. % 6 days
3. % 12 days
4. % 24 days

Question Number : 107 Question Id : 6009298190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, 20 &1 T T ST JHT HR Tl § SIaid B, 30 fa-1 H THH S R aR Gdhdl g | A AR B G A 5 ferl & o & foan Sk ¢ 3%
Y SST1 3ATa 3.5 ot &, gt i o O 6%t T I 3 | 1 % b ¢ 3iobal fopan 31 & & Q1 % Wbl 3 |

Options :

1. % ofeq




2. % ¢feq
3.+ 12faq
4. % 2429

Question Number : 108 Question Id : 6009298191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three friends Ratish, Satish and Nitesh can do a work in 20, 24 and 32 days respectively. Ratish is assisted by Satish one day and by Nitesh the
next day, alternatively. In how many days will the work be finished?

Options :

1. # 11(47/83) days
2. % 11(7/13) days
3. % 10(13/83) days
4, % 12(11/13) days

Question Number : 108 Question Id : 6009298191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R =, efi=r SR =T sH=T: 20, 24 3R 32 &A1 & U 10 R Iobd 1 A BT, [Apedd: T fo7 Il gR1 A g frerd € 3R
TR fa e gRT Aee e 8 | & feam foml & R grme

Options :

1. % 1147/83) fem

2. ¢ 11(7/13) fe&A

3. % 10(13/83) fam

4. % 12(11/13) fem

Question Number : 109 Question Id : 6009298192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three pipes A, B and C can separately fill a cistern in 15min, 12min and 10 min respectively, and a waste pipe D can carry off 121 litres per min.
If all the pipes are opened when the cistern is half full, then it is emptied in 4 hours. How many litres does the cistern hold?

Options :



1. * 4800
2. % 540
3. ¥ 480
4. * 960

Question Number : 109 Question Id : 6009298192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JF gy A, B 3R ¢ R 15 e, 12 fFe 3R 10 fFe § Th $HitedhT &1 1R Tahd § 3R T el D ufd fFe 121 AR & Raea @
ET%@%Waﬁmﬂmﬁaﬁq’@ww%mmaﬂtﬂﬂﬁgﬁ%,a‘raam%ﬁ@?ﬁaaﬁﬂ%mmﬁ?ﬂamm
)
Options :
1. % 4800
2. % 540
3. ¥ 480
4. % 960

Question Number : 110 Question Id : 6009298193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the area of a trapezium with parallel sides of 8cm and 15cm is 115 sq cm, then find the distance between the parallel sides.
Options :

1. ®* 7cm

2. % 8cm

3. ®* 9cm

4. % 10 cm

Question Number : 110 Question Id : 6009298193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 8 om 3R 15 cm%WHﬁT@f% AT BT &A% 115 sqcm%,?ﬁw Wﬁ%@ﬁﬁ@ﬂﬁaﬁl

Options :




1. *® 7cm
2. % 8cm
3. % 9cm
4.4 10 cm

Question Number : 111 Question Id : 6009298194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C are three adjacent surfaces of cuboid. Area of A is 20 sq cm and area of B is 40 percent less than that of A while Area of C is 25
percent more than that of B. What is the volume of cuboid?

Options :

1. % 50 cucm
2. % 20 cucm
3. % 60 cucm

4. % 70 cucm

Question Number : 111 Question Id : 6009298194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C TF1Y & T T3 TG & | A BT &THA 20 sq om © 3R B BT EADHA A BT a1 H 40 U= HH § Sddh C BT 8AHA B B
g H 25 Ufa=rd 31fie 8 | 9-TH BT 3Tad- o1 82

Options :

1. ® 50 cucm

2. % 20 cucm

3. ¥ 60 cucm

4. % 70 cucm

Question Number : 112 Question Id : 6009298195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bigger ball of radius 7 cm is recast into smaller balls of radius of 2 cm each, in this process 20% of the material is wasted, then how many such
complete spherical smaller balls can be made?



Options :
1. % 41
2. %25
3. % 43
4.9 34

Question Number : 112 Question Id : 6009298195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 cm TS B} TH §St 1T B UAD 2 om Boar Bt 1) 18T & O J @rell 731 7, 59 Uithar & Irfl &1 20% ERI€ 81 Sldl §, ) 99 dvg &1
forat Tguf MareR Bt Tt & ST S Yahdl /2

Options :
1. % 41
2. % 25
3. % 43
4.9 34

Question Number : 113 Question Id : 6009298196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the parallel sides of the trapezoid is 5:2. The difference between them is 18 cm. The perpendicular distance between them is 4 cm.
What is the area?

Options :

1. ¥ 84 sqcm
2. % 168 sq cm
3. % 378 sqcm
4. % 189 sq cm

Question Number : 113 Question Id : 6009298196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TGSt & FHFTAR YoTI3f 6T SUId 5 : 2 § 1 3 &9 BT 3R 18 om | S 81 1 dGdd ol 4 em | EHd FT 82




Options :

1. ¥ 84 sqcm
2. % 168 sq cm
3. % 378 sqcm
4. % 189 sq cm

Question Number : 114 Question Id : 6009298197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the marks obtained by students and the ratio of boys and girls in five different colleges. The number of girls of college
A is what percent more than number of girls of college E?

Colleges Students | Boys : Girls
A 750 3:2
B 450 4:5
c 430 R:3
D 780 7:6
E 40 2:1
Options :

1. * 33.33 percent
2. ¥ 66.66 percent
3. % 53 percent
4. % 40 percent

Question Number : 114 Question Id : 6009298197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafaa aifcre! Ui srav-sra HeTfaeradl & ST gRT U fhT T Sfd! 3R ds@! 3R dsfddl & SuTd &I guiid! 8 | AT A
DI AS(HT B! GBAT HIITTT E 1 AS(Ha &) T=a F fpam ufawrd sifdies g2




TeTaeTea o we® - defeal
A 750 3:2
B 450 4:5
C 480 5:3
D T80 7:6
E 540 2:1
Options :
1. % 3333 gfderd
2. ¥ 66.66 Ufa=Td
3. % 53 gfazrd

4. % 40 gfa=rd

Question Number : 115 Question Id : 6009298198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the percentage wise breakup of students in terms of specialization. Total number of students is 12000. What is the
total number of students having specialization in IB, Finance and Marketing?



Students specialization

Options :
1. #® 4658
2. % 3340
3. ¥ 5520
4. ® 4436

Question Number : 115 Question Id : 6009298198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad o arc foRisar & ey & SE1 & Uia=id-aR fauTsH &1 g2iidl § | SE1 &1 $d W 12000 71 1B, fad iR fauor # fasmsmar

G 9T BT Bt Hdl THT T ]2
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Options :
1. # 4658
2. % 3340
3. ¥ 5520
4. % 4436

Question Number : 116 Question Id : 6009298199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives information about monthly rent (in thousands) at five different places in six different years. Monthly rent at Kandivali
in the year 2008 was approximately what percent of the total monthly rent at Virar over all the years together?



o Place
Churchgate Dadar Kandivali Baorivali Virar

2005 5.3 3.8 1.5 2.7 1.1
2006 12.5 2.3 3.4 4.8 21
2007 16.7 5.5 5.5 6.6 1.8
2008 13.6 0.8 0.8 12.7 3.6
2009 14.5 11.5 11.5 14.1 5.5
2010 20.9 15.6 15.6 15.9 1.8

Options :

1. % 30

2. % 33

3. % 42

4. % 45

Question Number : 116 Question Id : 6009298199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa e T8 faftre auf & ur srerT-3/@v - R A1y fTe @9RI #) & TR § SR Sl 81 a8 2008 H wifegel # A1fie
fop=ran, Gyt I o1 Hot AT faRR § o 1R [hR1U 1 T T Ufe=id um

= &I
THIT CIEH difgael | ARt | fRR
2005 5.3 3.3 1.5 2.7 1.1
2006 12.5 8.3 3.4 4.8 21
2007 16.7 5.5 5.5 6.6 1.8
2008 13.6 9.8 0.8 12.7 3.6
2005 14.5 11.5 11.5 14.1 5.5
2010 20.9 15.6 15.6 15.9 1.8
Options :
1. % 30

2. % 33



3. % 42
4.9 45

Question Number : 117 Question Id : 6009298200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following graph shows the marks of 2 students in 5 different subjects. In how many subjects did Rohit score more marks than Aman?

—=—Rohit —=—Aman
120 -+

£ 100 - 9’5 -

5 85 85

T 80 - o0 70

n 75 75
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G o 65

2 a0 -

e

[

= 20 A

0
Physics Chemistry Math English Computer
Subjects

Options :
1. %1
2. % 2
3.9 3
4. % 4

Question Number : 117 Question Id : 6009298200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7T 5 SrarT-srar fawal & 2 S & 3! & g1 g | Afed 7 3 &1 ga- | fova fawal & sif¥es ofd e forw?




BE & 3w
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faug
Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 118 Question Id : 6009298201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the number of branches of three different banks in five different states. What is the respective ratio of the total
number of branches of ICICI Bank in Gujarat and Karnataka together to the number of branches of Bank of Baroda in Maharashtra and Rajasthan



together?

B Bank of Baroda ® ICICI Bank = State Bank of India
500 — 475 475
o
=
[¥]
c
2
I
s
o
-
E
3
=
Maharashtra Rajasthan Gujarat Uttar Pracesh Kamataka
States
Options :
1. % 24:25
2.¥31:25
3. % 21:25
4. % 28:25

Question Number : 118 Question Id : 6009298201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoied R U1 uta SreT-sre Xrsdt § iF fafid dont ot Rmarsil &1 e &1 g=ifdT ] | ORI 3R $Hfed H ICICI §F &1 $d
RT3 BT Hf AR T BT HERTY TR AR H o 31T TSal i RIS it fHerepR Tt I Haerd Srurd 1 62
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Options :

1. ¥ 24:25
2. ¥ 31:25
3. % 21:25
4. % 28:25

Question Number : 119 Question Id : 6009298202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the number of candidates qualified in the clerk entrance examination over the years 2007, 2008, 2009 from the five
states (P, Q, R, S and T). The total number of students qualifying in 2007 from P, R and T together is what percentage (approximate) of the total



number of students qualifying in 2008 from Q, S and T together?

m 2007 m 2008 m 2009

7 &40

Number of candidates gualified in
the prelims examination
- 8 8888838

F Q R 3 T
States

Options :

1. # 68.7 percent
2. # 54.3 percent
3. ¥ 71.2 percent
4. ¥ 79.5 percent

Question Number : 119 Question Id : 6009298202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad e i I3 (P, Q, R, S 3R T) A fUaa & auif & 2007, 2008, 2009 H F7ds YA Utem & IH0] gU SHGAR] Bt T Hl
SR 8| $ FHATHR P, R 3R T/ 2007 H il G 10 BT B Hot WA, 2008 H Hof FHTHR Q, S 3R T U IV SHI DT el AT &1
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Options :

1. % 68.7 Ufa=rd
2. % 543 gfa=rd
3. % 71.2 gfawrd
4. ¥ 79.5 Ufa=rd

Question Number : 120 Question Id : 6009298203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the revenue earned (in Rs. Crores) by 4 companies namely Asian Paints, Usha, Nirma and Hero Motocorp in 5 years
respectively. If the expenditure of Hero Motocorp was same for all the years which is Rs. 240 crores, then what is the difference between the total



rofit earned in the first three years and the profit earned in the next two years by Hero Motocorp?

—=— Asian Paints —Usha -—=—Nirma Hero Motocorp
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=
e 100 -

0
2011 2012 2013 2014 2015
Year
Options :

1. # Rs. 62 crores
2. ¥ Rs. 85 crores
3. % Rs. 100 crores
4. # Rs. 55 crores

Question Number : 120 Question Id : 6009298203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 62 TRIS BUT
2. ¢ 85 PRI BUT
3. % 100 PRIS BUT
4. % 55 RIS BUT
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Question Number : 121 Question Id : 6009298204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the

option 'No Error'.

Options :

1. # Vishal said to Roshnita, " Hear me
2. % out, | have had a good news

3. * for you".

4. % No error

Question Number : 121 Question Id : 6009298204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the

option 'No Error'.
Options :



1. #* Vishal said to Roshnita, " Hear me
2. % out, I have had a good news
3. % for you".

4. % No error

Question Number : 122 Question Id : 6009298205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ The cause and affect

2. % of such a hypothesis is unknown

3. % to mankind at this moment.

4. % No error

Question Number : 122 Question Id : 6009298205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ The cause and affect

2. % of such a hypothesis is unknown

3. % to mankind at this moment.

4. % No error

Question Number : 123 Question Id : 6009298206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :



1. # Lives of many people
2. ¥ were effected by this
3. # decision of the government.

4. % No error

Question Number : 123 Question Id : 6009298206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # Lives of many people

2. ¥ were effected by this

3. # decision of the government.

4. % No error

Question Number : 124 Question Id : 6009298207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ The Hurricane Gloria is described the one

2. # of the most destructive hurricanes to

3. % have hit the East Coast of the United States.

4. % No error

Question Number : 124 Question Id : 6009298207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



Options :

1. ¥ The Hurricane Gloria is described the one
2. ® of the most destructive hurricanes to

3. # have hit the East Coast of the United States.
4. ¥ No error

Question Number : 125 Question Id : 6009298208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # Evidently, the entire Soviet Union

2. ¥ collapsed over the

3. # leadership of Mikhail Sergeyevich Gorbachev.

4. % No error

Question Number : 125 Question Id : 6009298208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # Evidently, the entire Soviet Union

2. ¥ collapsed over the

3. # leadership of Mikhail Sergeyevich Gorbachev.

4. % No error

Question Number : 126 Question Id : 6009298209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



(It was a incredible proud moment for every Indian), when the country lifted the World Cup.
Options :

1. ® It was a incredibly proud moment for Indian

2. ¥ It was an incredible and proud moment for every Indian

3. # It was an incredibly proud moment with every Indian

4. ® No correction required

Question Number : 126 Question Id : 6009298209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(It was a incredible proud moment for every Indian), when the country lifted the World Cup.
Options :

1. # It was a incredibly proud moment for Indian

2. ¥ It was an incredible and proud moment for every Indian

3. # It was an incredibly proud moment with every Indian

4. % No correction required

Question Number : 127 Question Id : 6009298210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The CEO paid all of his employee's) dues even during the recession.
Options :

1. #® The CEO paid all of his employees

2. % The CEO has had paid all of his employee's

3. % The CEO had paid all of his employees'

4. ® No correction required



Question Number : 127 Question Id : 6009298210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The CEO paid all of his employee's) dues even during the recession.
Options :

1. # The CEO paid all of his employees

2. % The CEO has had paid all of his employee's

3. % The CEO had paid all of his employees'

4. # No correction required

Question Number : 128 Question Id : 6009298211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(We hadn't sooner agreed upon) a settlement than the shocking evidence was revealed.
Options :

1. # No sooner did we agreed upon

2. % We had no sooner agreed upon

3. ¥ We had no sooner agree upon

4. ¥ No correction required

Question Number : 128 Question Id : 6009298211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(We hadn't sooner agreed upon) a settlement than the shocking evidence was revealed.



Options :

1. #® No sooner did we agreed upon
2. % We had no sooner agreed upon
3. # We had no sooner agree upon

4. ® No correction required

Question Number : 129 Question Id : 6009298212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I was told that (I would have spent more time preparing) for the speech.
Options :

1. # I would have had spent more time preparing

2. ¥ [ should have spent more time preparing

3. # I should had spent more time preparing

4. % No correction required

Question Number : 129 Question Id : 6009298212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

I was told that (I would have spent more time preparing) for the speech.
Options :

1. #® T would have had spent more time preparing

2. ¥ I should have spent more time preparing

3. # I should had spent more time preparing

4. ® No correction required

Question Number : 130 Question Id : 6009298213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The editors reserve the right to the script as per they see it fit.

Options :

1. # adhoc
2. ® access
3. ¥ abridge
4. #® obdurate

Question Number : 130 Question Id : 6009298213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The editors reserve the right to the script as per they see it fit.

Options :

1. # adhoc
2. # access
3. % abridge
4. # obdurate

Question Number : 131 Question Id : 6009298214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He tried to explain the jury that he was extremely for his actions.

Options :
1. ¥ contrite
2. * dacite

3. #* dunnite



4. % curate

Question Number : 131 Question Id : 6009298214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He tried to explain the jury that he was extremely for his actions.

Options :

1. ¥ contrite
2. % dacite
3. # dunnite

4. % curate

Question Number : 132 Question Id : 6009298215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

With the economy drowning and the recession about to hit, there is going to be a severe in employment structures.

Options :

1. # raucity
2. ¥ paucity
3. % velocity

4. % opacity

Question Number : 132 Question Id : 6009298215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

With the economy drowning and the recession about to hit, there is going to be a severe in employment structures.

Options :



1. # raucity
2. ¥ paucity
3. % velocity

4. ¥ opacity

Question Number : 133 Question Id : 6009298216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He started sweating as soon as the evidence which would convict him reached the jury.

Options :

1. # allegedly
2. ¥ profusely
3. # confusingly
4. * intricately

Question Number : 133 Question Id : 6009298216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He started sweating as soon as the evidence which would convict him reached the jury.

Options :

1. % allegedly
2. % profusely
3. # confusingly

4. # intricately

Question Number : 134 Question Id : 6009298217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a



paragraph.
There are all sorts of ways to reconstruct the history of life on Earth but pinning down when specific events occurred is often tricky.
P. There are problems with each of these methods.

Q. For this, biologists depend mainly on (1) dating the rocks in which fossils are found and (2) by looking at the “molecular clocks” in the DNA
of living organisms.

R. The fossil record is like a movie with most of the frames cut out because it is so incomplete, it can be difficult to establish exactly when
particular evolutionary changes happened.

S. These difficulties mean that the dates in the timeline should be taken as approximate.

As a general rule, they become more uncertain the further back along the geological timescale we look meaning dates that are very uncertain are
marked with a question mark.

Options :

1. ¥ QPSR
2. ¥ QPRS
3. % QSPR
4. % QSRP

Question Number : 134 Question Id : 6009298217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

There are all sorts of ways to reconstruct the history of life on Earth but pinning down when specific events occurred is often tricky.
P. There are problems with each of these methods.

Q. For this, biologists depend mainly on (1) dating the rocks in which fossils are found and (2) by looking at the “molecular clocks” in the DNA
of living organisms.

R. The fossil record is like a movie with most of the frames cut out because it is so incomplete, it can be difficult to establish exactly when
particular evolutionary changes happened.



S. These difficulties mean that the dates in the timeline should be taken as approximate.

As a general rule, they become more uncertain the further back along the geological timescale we look meaning dates that are very uncertain are
marked with a question mark.

Options :

1. # QPSR
2. % QPRS
3. % QSPR
4. % QSRP

Question Number : 135 Question Id : 6009298218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Born in a family

P. with providing for

Q. the youngest; and the

R. household constantly struggled
S. of eight, he was

all of them.
Options :

1. # SPRQ
2. ¥ SQRP
3. ¥ SPQR
4. % SRQP

Question Number : 135 Question Id : 6009298218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



Born in a family

P. with providing for

Q. the youngest; and the

R. household constantly struggled
S. of eight, he was

all of them.
Options :

1. # SPRQ
2. ¥ SQRP
3. ¥ SPQR
4. % SRQP

Question Number : 136 Question Id : 6009298219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Belonging to a privileged class

P. to overcome many
Q. barriers that obstruct
R. can help a woman

S. women from less

thriving class.
Options :

1. ¥ RPQS
2. # RSQP
3. ¥ RPSQ
4. % RQPS

Question Number : 136 Question Id : 6009298219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Belonging to a privileged class

P. to overcome many
Q. barriers that obstruct
R. can help a woman

S. women from less

thriving class.
Options :

1. ¥ RPQS
2. % RSQP
3. ®# RPSQ
4. % RQPS

Question Number : 137 Question Id : 6009298220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The year is 1960 and Frank Drake of the National Radio Astronomy Observatory (NRAO) in Green Bank, West Virginia undertakes the first
attempt to find extra-terrestrial civilizations.

P. Within a year a meeting is hosted in Green Bank to explore the issue of extra-terrestrial intelligence.
Q. Frank Drake needed to come up with an agenda for the meeting in order to provide some structure to the discussion.
R. To serve as an agenda, he devises the Drake Equation.

S. Dubbed Project Ozma, for a period of 6 hours a day for four months the NRAO radio telescope listens for radio signals of intelligent origin but
none are found.



Sometimes also known as the Sagan-Drake Equation, the meeting was attended by approximately a dozen interested parties.
Options :

1. ¥ SPQR

2. % SRQP

3. ¥ SRPQ

4. % SQRP

Question Number : 137 Question Id : 6009298220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The year is 1960 and Frank Drake of the National Radio Astronomy Observatory (NRAO) in Green Bank, West Virginia undertakes the first
attempt to find extra-terrestrial civilizations.

P. Within a year a meeting is hosted in Green Bank to explore the issue of extra-terrestrial intelligence.
Q. Frank Drake needed to come up with an agenda for the meeting in order to provide some structure to the discussion.
R. To serve as an agenda, he devises the Drake Equation.

S. Dubbed Project Ozma, for a period of 6 hours a day for four months the NRAO radio telescope listens for radio signals of intelligent origin but
none are found.

Sometimes also known as the Sagan-Drake Equation, the meeting was attended by approximately a dozen interested parties.
Options :

1. ¥ SPQR

2. % SRQP

3. % SRPQ

4. % SQRP

Question Number : 138 Question Id : 6009298221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Lascivious
Options :

1. # Ascetic

2. # Puritanical
3. % Lecherous

4. % Incumbent

Question Number : 138 Question Id : 6009298221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Lascivious
Options :

1. # Ascetic

2. # Puritanical
3. % Lecherous

4. % Incumbent

Question Number : 139 Question Id : 6009298222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Embroiled
Options :

1. #* Implicate
2. ¥ Pacify

3. # Entangle
4. % Disturb



Question Number : 139 Question Id : 6009298222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Embroiled
Options :

1. * Implicate
2. ¥ Pacify

3. * Entangle
4. * Disturb

Question Number : 140 Question Id : 6009298223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Avarice
Options :

1. # Insurance
2. * Promise
3. ¥ Greed

4. * Generosity

Question Number : 140 Question Id : 6009298223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Avarice
Options :

1. #* Insurance



2. * Promise
3. % Qreed

4. # Generosity
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Question Number : 141 Question Id : 6009298224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Impecunious
Options :

1. % Coward
2. # Intelligent
3. % Caring

4. ¥ Wealthy

Question Number : 141 Question Id : 6009298224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Impecunious
Options :

1. ®* Coward
2. % Intelligent
3. ¥ Caring

4. ¥ Wealthy

Question Number : 142 Question Id : 6009298225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Underwrite
Options :

1. ¥ Sponsor
2. # Reject
3. #* Twist
4. % Loop



Question Number : 142 Question Id : 6009298225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Underwrite
Options :

1. ¥ Sponsor
2. # Reject
3. % Twist
4. # Loop

Question Number : 143 Question Id : 6009298226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Cinematograph

2. % Cinematogarph

3. ¥ Cinematogprah

4. # Cinematagraph

Question Number : 143 Question Id : 6009298226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Cinematograph

2. # Cinematogarph

3. # Cinematogprah

4. # Cinematagraph



Question Number : 144 Question Id : 6009298227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Euphimism

2. % Euphemism

3. % Eupheism

4. % Eufimism

Question Number : 144 Question Id : 6009298227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * Euphimism

2. ¥ Euphemism

3. # Eupheism

4. % Eufimism

Question Number : 145 Question Id : 6009298228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Ephemeral

2. # Ephemrial

3. % Ephimeral

4. ¥ Ephemiral

Question Number : 145 Question Id : 6009298228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Ephemeral

2. % Ephemrial

3. # Ephimeral

4. % Ephemiral

Question Number : 146 Question Id : 6009298229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Castegate

2. ¥ Castigate

3. % Costigate

4. # Costegate

Question Number : 146 Question Id : 6009298229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Castegate

2. ¥ Castigate

3. # Costigate

4. % Costegate

Question Number : 147 Question Id : 6009298230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

In the heat of the moment.

Options :

1. ¥ A competition where the outcome is difficult to judge or predict.
2. % A two person conflict where both people are at fault.

3. ¥ Overwhelmed by what is happening in a given situation.

4. % An aggressive and bold confrontation.

Question Number : 147 Question Id : 6009298230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

In the heat of the moment.

Options :

1. # A competition where the outcome is difficult to judge or predict.
2. % A two person conflict where both people are at fault.

3. ¥ Overwhelmed by what is happening in a given situation.

4. % An aggressive and bold confrontation.

Question Number : 148 Question Id : 6009298231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Hell in a handbasket.

Options :

1. ® To be easily successful in every goal set.

2. % Do something or say something exactly right.
3. % Living in Luxury.

4. ¥ Deteriorating and headed for complete disaster.



Question Number : 148 Question Id : 6009298231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Hell in a handbasket.

Options :

1. #® To be easily successful in every goal set.

2. #® Do something or say something exactly right.
3. % Living in Luxury.

4. ¥ Deteriorating and headed for complete disaster.

Question Number : 149 Question Id : 6009298232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Great minds think alike.

Options :

1. # Angry and overcome by emotions.

2. % Someone who helps others when they are in need, with no thought of a reward.
3. ¥ Intelligent people think like each other.

4. ® A personal intuition you get, especially when feel something may not be right.

Question Number : 149 Question Id : 6009298232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Great minds think alike.
Options :
1. ¥ Angry and overcome by emotions.

2. % Someone who helps others when they are in need, with no thought of a reward.



3. ¥ Intelligent people think like each other.

4. # A personal intuition you get, especially when feel something may not be right.

Question Number : 150 Question Id : 6009298233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Go down like a lead balloon.

Options :

1. # To escape from something.

2. ¥ To be received badly by an audience.
3. % To gamble everything you have.

4. % Going above and beyond whatever is required for the task at hand.

Question Number : 150 Question Id : 6009298233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Go down like a lead balloon.

Options :

1. # To escape from something.

2. ¥ To be received badly by an audience.

3. # To gamble everything you have.

4. ® Going above and beyond whatever is required for the task at hand.

Question Number : 151 Question Id : 6009298234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

To turn the cover.



Options :

1. ¥ To pass the crisis.

2. % To not be able move beyond something that is bothering you.
3. ¥ Someone who is having a horrible day.

4. ® Get fired from a job.

Question Number : 151 Question Id : 6009298234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

To turn the cover.

Options :

1. % To pass the crisis.

2. % To not be able move beyond something that is bothering you.
3. # Someone who is having a horrible day.

4. ® Get fired from a job.

Question Number : 152 Question Id : 6009298235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Relating to or in a state of coma.
Options :

1. ¥ Comatose

2. # Crustose

3. # Fumettoes

4. % Ketose

Question Number : 152 Question Id : 6009298235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expression given below

Relating to or in a state of coma.
Options :

1. ¥ Comatose

2. # Crustose

3. % Fumettoes

4. # Ketose

Question Number : 153 Question Id : 6009298236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Come together to form one mass or whole.
Options :

1. # Recrudesce

2. % Convalesce

3. % Effervesce

4. ¥ Coalesce

Question Number : 153 Question Id : 6009298236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Come together to form one mass or whole.
Options :

1. # Recrudesce

2. ®% Convalesce

3. ® Effervesce

4. ¥ Coalesce



Question Number : 154 Question Id : 6009298237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

A place where weapons are manufactured and stored.
Options :

1. # Lineal

2. ¥ Arsenal

3. # Pineal

4. # Cuneal

Question Number : 154 Question Id : 6009298237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

A place where weapons are manufactured and stored.
Options :

1. # Lineal

2. ¥ Arsenal

3. # Pineal

4. % Cuneal

Question Number : 155 Question Id : 6009298238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Living or often found in trees.
Options :

1. # Corporeal

2. % Boreal



3. # Areal
4. % Arboreal

Question Number : 155 Question Id : 6009298238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Living or often found in trees.
Options :

1. # Corporeal

2. # Boreal

3. % Areal

4. ¥ Arboreal

Sub-Section Number : 2
Sub-Section Id : 600929478
Question Shuffling Allowed : Yes

Question Id : 6009298239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Before Williams wrote Streetcar, the theatre had been dominated by melodrama. A brief interlude in the 1930s brought political theatre to centre
stage, but by the 1940s, its principal playwright, Clifford Odets, had left New York for Hollywood, and the sensationalized and maudlin form of
melodrama once again flourished. The theatre was in limbo, and Williams had a desire to bring something new to the world. It would bring the
realism of the political theatre of the 1930s but without the political underpinnings. To that end, he created lifelike characters who spoke in
realistic dialect.

But to make his point that melodrama was flawed, he added an equally unrealistic character. Blanche, unlike the other characters, speaks
theatrically, acts larger than life on stage, and uses floral language and heightened mannerisms. Blanche Dubois is a character not to be trusted.
She lies about everything, and the only thing that finally exposes her lies is reality itself: Stanley Kowalski. He finally forces her off the stage and
into the insane asylum by forcing himself on her physically. And with that, realism forcibly removed melodrama from the stage.

Sub questions



Question Number : 156 Question Id : 6009298240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what was the predominant genre of theatre before Streetcar was written?
Options :

1. # Comedy

2. * Tragedy

3. #* Drama

4. % Melodrama

Question Number : 157 Question Id : 6009298241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, on whose departure from theatre, brought back melodrama to its former glory?
Options :

1. ¥ Odets

2. % Williams

3. % Dubois

4. % Kowalski

Question Number : 158 Question Id : 6009298242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the character that Williams talks about as being as unrealistic as a melodrama character?
Options :

1. # Stanley

2. % Clifford

3. % Blanche

4. % Alice

Question Number : 159 Question Id : 6009298243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the passage which of the following given statement is incorrect?

Options :

1. # Clifford Odets was the principle playwright who brought in political theatre into the limelight during the 1930’s to 1940’s.

2. ® The reason behind Williams writing Streetcar was because he wanted to show the flaws of melodrama by bringing something new.
3. # Blanche Dubois is portrayed as the unrealistic character who can be compared with that of melodrama.

4. ¥ Williams wanted to bring back the realistic political theatre, like the one Odets had started in the 1930s.

Question Number : 160 Question Id : 6009298244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what does the line “realism forcibly removed melodrama from the stage” lays its reference to?
Options :

1. ¢ The literal representation of Stanley’s physically exertion to force Blanche off the stage and into the mental asylum.

2. % The figurative representation of Stanley’s physically exertion to force Blanche off the stage and into the mental asylum.
3. # To show that the play marked the end of the melodramatic era.

4. ® To show Blanche’s flaw as a representation of melodrama.

Question Id : 6009298239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Before Williams wrote Streetcar, the theatre had been dominated by melodrama. A brief interlude in the 1930s brought political theatre to centre
stage, but by the 1940s, its principal playwright, Clifford Odets, had left New York for Hollywood, and the sensationalized and maudlin form of
melodrama once again flourished. The theatre was in limbo, and Williams had a desire to bring something new to the world. It would bring the
realism of the political theatre of the 1930s but without the political underpinnings. To that end, he created lifelike characters who spoke in
realistic dialect.

But to make his point that melodrama was flawed, he added an equally unrealistic character. Blanche, unlike the other characters, speaks
theatrically, acts larger than life on stage, and uses floral language and heightened mannerisms. Blanche Dubois is a character not to be trusted.
She lies about everything, and the only thing that finally exposes her lies is reality itself: Stanley Kowalski. He finally forces her off the stage and
into the insane asylum by forcing himself on her physically. And with that, realism forcibly removed melodrama from the stage.

Sub questions

Question Number : 156 Question Id : 6009298240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what was the predominant genre of theatre before Streetcar was written?
Options :

1. # Comedy

2. # Tragedy

3. % Drama

4. ¥ Melodrama

Question Number : 157 Question Id : 6009298241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, on whose departure from theatre, brought back melodrama to its former glory?
Options :

1. ¥ Odets

2. % Williams

3. * Dubois

4. # Kowalski

Question Number : 158 Question Id : 6009298242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the character that Williams talks about as being as unrealistic as a melodrama character?
Options :

1. # Stanley

2. # Clifford

3. ¥ Blanche

4. % Alice

Question Number : 159 Question Id : 6009298243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage which of the following given statement is incorrect?



Options :

1. #® Clifford Odets was the principle playwright who brought in political theatre into the limelight during the 1930’s to 1940’s.

2. ® The reason behind Williams writing Streetcar was because he wanted to show the flaws of melodrama by bringing something new.
3. # Blanche Dubois is portrayed as the unrealistic character who can be compared with that of melodrama.

4. ¥ Williams wanted to bring back the realistic political theatre, like the one Odets had started in the 1930s.

Question Number : 160 Question Id : 6009298244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, what does the line “realism forcibly removed melodrama from the stage” lays its reference to?

Options :

1. ¥ The literal representation of Stanley’s physically exertion to force Blanche off the stage and into the mental asylum.

2. ® The figurative representation of Stanley’s physically exertion to force Blanche off the stage and into the mental asylum.
3. # To show that the play marked the end of the melodramatic era.

4. ® To show Blanche’s flaw as a representation of melodrama.
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Question Number : 161 Question Id : 6009298245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawedl & Q, 39 fadwe &1 999 &3 S foran & We aren 9el fasea gl
AR A=) I G rorardr g |

Options :

1. % QdpIicid fopdl

2. ¢ TR fopa

3. ® YT foean

4. % Yo febar

Question Number : 161 Question Id : 6009298245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad uy A, IR e & 3, 39 9wy &1 Taa &2 &) i1 & Ne are I8! fabe 8l
AR AIHR! ¥ qEE ST g

Options :

1. % QdpIicid fohd

2. ¢ WU fopa

3. % FHYrd fobar

4. % Ggad febar




Question Number : 162 Question Id : 6009298246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gm%uaﬁ,mwﬁﬁ,wﬁ¢wmqqﬂ B S HIFD B AT T Usg & IR fAU U a1 o for 31eud o g &bl el fddbed
|

§fadT = 9gd Hed 31 (I ) I%a 81 g3

Options :

1. % fqurd

2. ¥ GHAGEIYD 30y

3. % fquqfadius sy

4, % JayAUPH Y

Question Number : 162 Question Id : 6009298246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gm@au%ﬁ,wﬁWﬁﬁ,wﬁ¢wmquﬂ H Ol HIFP A 3T T et & SR AU TN a1ag & foIe o/ & A &1 et faded
I

T - 9gd Hed &1 (T oY) I 161 g3 |

Options :

1. % ford

2. ¥ GHEYEIYD 3y

3. % fowrfdaiys sroqg

4. % YYD 3y

Question Number : 163 Question Id : 6009298247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, TR fawedl # 9, 39 fadhed &1 997 B Sl HIgarad 91 &1 98! f[ddbed -Tg) g |
Options :

1. % Ridedr

2. ¥ d3]

3. % 9™




4. % Yai-gd

Question Number : 163 Question Id : 6009298247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofiied vy H, IR fawed! § 9, 39 fadhed &1 997 &< il HIadTrad 4311 $1 el [dded Te o
Options :

1. % Qfierdm

2. ¥ dgl

3. % 9cH

4. % Q=T

Question Number : 164 Question Id : 6009298248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferied Uy ¥, IR fadbedl # 9, 39 [dded &1 99 &< ol Yd-TH & e D1 o f[ddbed gl
9 T |38 817

Options :

1. ¢ UYarde

2. % (Aygara®
3. % IYydrasdh
4. % YD

Question Number : 164 Question Id : 6009298248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad vy 8, IR fadedl 9, 39 fddbed &1 90 & Sl Ga1H & Ne $1 Fel fdbed gl
RCENIRCIRGH Y

Options :

1. ¢ JYddd

2. % Rggares



3. % JJYdrd
4. % YA

Question Number : 165 Question Id : 6009298249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us §, IR fadedl # 9, 39 [dhed BT 7= B Sl HIgD H U T st o AR 4RIV o Ve arell fdbed gl
R F P (G e 1 e 31

Options :

1. % =g diYdh
2. % FIHS

3. ¢ A% S=aa®
4. % TUATED

Question Number : 165 Question Id : 6009298249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy &, IR fawedl O 4, 39 fawed &1 999 &< S DIgd U fU 7T s & R a=Iw0r o Ug arell f[ddhed gl
R fE & () e &1 faare B

Options :

1. % qH=Y SYD

2. % IS

3. ¢ [Afgd Jeraras
4. % TUATES

Question Number : 166 Question Id : 6009298250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRed Uy #, IR fadedl # 9, 39 fddbed &1 78 DX il G2/ol Wsg b1 Fal [dhed |

Options :

1. % fgHd



2.% 39
3. ¥ doh-ddh
4. % ToRT

Question Number : 166 Question Id : 6009298250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed oy o, IR fawedl 8 9, 39 [9dhed &1 997 Y S <RI eg 1 Tt [abed gl
Options :

1. ® fgrrd

2. % 39

3. ¥ dbh-dh

4. % R

Question Number : 167 Question Id : 6009298251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered Uy o, IR fadedl # 9, 39 fddbed &1 7 D1 off U T Teg & fo1T g1 Igsiie Tamg & 935 &1 fdded 8|

Options :

1. ¢ 98 arelt g
2. % g9 aTci! gedr
3. % G $S g

4. % g gt

Question Number : 167 Question Id : 6009298251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied us o, IR fadedl § 9, 39 fddhed &1 99 B S faU 1T T o foT He! agsiife Ty & faug &1 fdwe gl

Options :



1. ¢ 9814 drell geAT
2. % g9 arci! gedr
3. % GG $S BT

4. % g arelt

Question Number : 168 Question Id : 6009298252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy d, IR fadwel 7 9, 39 faded &1 999 &3 o1 fGT U Weg &1 dagd U Bl
TRdg

Options :

1. % g4I

2. ¢ QAT

3. % Uaq

4. % fug

Question Number : 168 Question Id : 6009298252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fowedl & T, 39 ey &1 Tu &3 oY T 7Y Wsg &1 dagd TU BT
TRda

Options :

1. % gl

2.« G

3. % UaH

4. % fUg

Question Number : 169 Question Id : 6009298253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al A 9, 39 fawey &1 994 B3 ol fou U gl TiY fawse &1 If &1 I8! fawea 8|




_RY + 3
Options :

1. ¢ RS
2. % TRATHY
3. % RT3
4. % IRARY

Question Number : 169 Question Id : 6009298253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead vy 8, IR fawedl & 9, 39 fade &1 99 o) Sl 3T U Ue! HiY fawse &t 9t &1 98! fadwed 81|
R + 3

Options :

1. v Gy

2. % GRHTSY

3. % RS

4, % IRHRY

Question Number : 170 Question Id : 6009298254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofiied vy ¥, 9R fawed! § 9, 39 faded &1 997 $X Sl U TU Xeg & TATIaT Red &1 gl [ddhed o1 6 |
a4

Options :

1. ® H

2. % gHY

3. ¢ (Ade

4. % 3

Question Number : 170 Question Id : 6009298254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrafefead vy #, IR fadbedl § Q, 39 fdeey o1 997 B3 ol f3U U Wea & Uaigard Wea 1 e fdehed 781§ |
qH

Options :

1. % A

2. % {qHY

3. ¢ [de

4. % g

Question Number : 171 Question Id : 6009298255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed uy §, IR eeal 7 9, 39 fahca &1 987 & ot fadiH Wsg &1 a9 331 faheu g |

AYH

Options :
1. % 94
2. % {H
3. % O
4. % 3dH

Question Number : 171 Question Id : 6009298255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 9wy &1 T B oY {3 e T a9 33T fAped 5|

HYH

Options :
1. % 9
2. % {IH
3. % O
4, ¢ 3dH




Question Number : 172 Question Id : 6009298256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawedl & 9, 39 I8! faeed &1 99+ &< ol aTai=il o Tt U 2eg &1 fadhed ol
fSTETehT AT Teh RIF W &I

Options :

1. % }g

2. % g

3. ¥ UplU

4. % UIRd

Question Number : 172 Question Id : 6009298256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfcRad U |, IR [ddwedl 7 ¥, 39 ! f[dmed &1 99+ 3 Sl dIaiRl o o7 U Xeg, ol [ddhed ol |
fSTETehT AT Teh RIF IR &

Options :

1. % ]9

2. % 7Y

3. ¥ U

4. % OIRd

Question Number : 173 Question Id : 6009298257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR wedl 7 9, 39 I8! fased &1 7 3 ol fu U weg & Tgh o1 &1 IfId fadeu T 811
3
Options :

1. % g

2. ¥ I




3. % 9
4. % TGS

Question Number : 173 Question Id : 6009298257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR wedl 7 9, 39 I8! fased &1 7 3 ol fu U weg & gt o1 &1 Iy faweu T 811
3

Options :
1. % TgI
2. ¥ TR
3. % 49
4. % TGS

Question Number : 174 Question Id : 6009298258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! o 9, 39 U5l fdeed &1 99+ & off Rad ®IM & o1t Iugad e &1 9! [dbed 3 |
RIS Tahdl, IRAT 3R e & Bl Bl ChiE

Options :

1. ¢ S§grdl

2. % Ufd

3. #® bR

4. % URd

Question Number : 174 Question Id : 6009298258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 el famed &1 997 & S Rad RIF & o Sugad e &1 el [dhed § |
TS T, dRal SR Sfera™ & Bl Bl EhIE

Options :




1. ¢ deral
2. % TEfd
3. % FADR
4. % Ofd

Question Number : 175 Question Id : 6009298259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy §, TR el # 9, 3T by &1 98 &3 ot g Vg b1 It fArea B
Options :

1. % st

2. % fewsy

3. ¢ fewuh

4. % fequoft

Question Number : 175 Question Id : 6009298259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad us o, TR fawedl § 9, 39 fawed &1 70 &L Sl Y Ueg &1 Gal fAhe 7
Options :

1. % dust

2. % fewst

3. ¢ fewuh

4. % fequuft

Question Number : 176 Question Id : 6009298260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl & 9, 39 fawed &1 999 &3 o Y Usk &1 Ta! [dbed 7

Options :

1. ® Trash




2. % Ufead
3. ¢ Ul
4. % TP

Question Number : 176 Question Id : 6009298260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR fowedl § 9, 39 fawey &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. ® Uy

2. % U

3. ¥ U

4. % Tl

Question Number : 177 Question Id : 6009298261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad us H, IR fabedl & 9, 39 fadbed 1 797 o Sl T 7 Wea & FHMT Wea &1 fashey 781 5 |
-

Options :

|. % gfay

2. % 3fferH

3. % fqdol

4, ¢ dc

Question Number : 177 Question Id : 6009298261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad vy 8, IR faswedl & 9, 39 fddhed &1 90 o Al f4T U e & FHMT 2eg &1 fadhed 151 5|
;T -

Options :




1. % gfaq
2. % 3f1ferH
3. % fqdap!
4. ¢ T4

Question Number : 178 Question Id : 6009298262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad oy o, aR fowedl & 9, 39 98! fadwed &1 79 &3 off 3T T Weg-g & 31 &1 et fadwed |
Hdg 3R 9

Options :

1. % TP 3R FAfd

2. % P 3R Fra?

3. ¢ TP AR ST H A

4. % Tg 3R amed

Question Number : 178 Question Id : 6009298262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § 9, 39 98! fawed &1 79 &3 off 3T 7T Weg-gW & 31 &1 et fadwed 8|
g 3R 9ag

Options :

1. % =7 R i

2. % P 3R Fax

3. Y 3R AT &b A

4. % T 3R MTeH

Question Number : 179 Question Id : 6009298263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy 1 T B &Y Hed WifelT =0 arl fdhed T8 o




Options :
1. ® qdigd
2. ¥ QY
3. % oIMH
4. % gHD

Question Number : 179 Question Id : 6009298263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffed uy &, IR el 7 9, 39 f[9hcu o1 987 & & ¥ed WifelT = a1 faeed T8l o

Options :
1. ® qdigd
2. Y
3. % oIMH
4. % gHD

Question Number : 180 Question Id : 6009298264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifed uy o, IR fawedl 8 9, 39 f9dhed &1 997 Y S faT U R1eg & Wil =4 arar fdswed 5|
OIPY

Options :

Question Number : 180 Question Id : 6009298264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR et 7 9, 39 f9hcd o1 987 &Y o feU 7T Yo & TWiifelT U ara faped g |

ElE
Options :

L. ¥ OPIe
2. % BIHRA
3. % 3P
4. % 3THY

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :

General Hindi2

10
600929255
0

120

No

No

0

20

No

Hindi Language & Comprehension2

600929401
1

Online
Mandatory
16

16

20

Yes



Sub-Section Id : 600929480
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6009298265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁ%ﬁﬂﬁﬁﬁﬁﬁ@r,wf&mwﬁdw B Ol HIFF A AT T et & SUR 3= T3 T G0 BT Tay 33T fadhey
|

Options :

1. % (31U STeg Y Sleg 3RUAT S5y
2. ¥ (3TT) He1 AT GART B g
3. % (TRD) Udl 3ATGH! [ Fdrm?

4. % (@) UM BId <9 ! Fhal

Question Number : 181 Question Id : 6009298265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁt{%ﬁ,ﬂﬂﬁﬂﬁﬁ,@f&dﬂﬁdw B S HIFD H [T T g & TR 3= TN I Fa-TH BT Tad 35T f[ddhed
|

Options :

1. % (3M0) Seg I Sleg SRYTd I3y
2. ¥ (3TT) HE-T HIFHI §HRI Hdod |
3. % (TRT) UdT 3P| o Sarn

4. % (#) 3T B W 8] g

Question Number : 182 Question Id : 6009298266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadedl # 4, 39 fddbed &1 9g DX oif U T a1 & DIl b1 gl [dehed Bl
dg HTHIA QIGIGIR:REIBICE R

Options :

1. % JYTT adqMRTA




2. % JUTH
ICINEA ]

3. ¥ BdegHG HYddbTd
4. % 3TF YdbTA

Question Number : 182 Question Id : 6009298266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us H, IR faddedl # 9, 39 fdehed &1 =99 3 il {¢T 7T a1e & bidl D1 gl [dehed Bl
dg THIA oIldl ?‘ﬁﬁ@ll"ll CEIGIN

Options :

1. % YT qHTbTd

2. % gyt

HideenTe

3. ¢ BdodHG HABTd

4. % 3T HdhTel

Question Number : 183 Question Id : 6009298267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl & 9, 39 faswey &1 999 &3 Sl foU T8 arag & fore gy & Y &1 9ad o1 fased ]
3R &dT o SITY d 39 I/T &1 IR g1 S|

Options :

1. ¢ Jbard
2. % s
3. % FyraArd
4. % g

Question Number : 183 Question Id : 6009298267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Uy &, aR foswed! & ¥, 39 fdwed &1 999 &< il faU T8 ard o fore gy & Y &1 9ad o/ [dsed 7
3R gal fid ST df 39 T &1 R 81 ST

Options :

1. ¢ by

2. % fysnd

3. % Gy

4. ® faemdf

Question Number : 184 Question Id : 6009298268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR ieedl 7 9, 39 fahcd o1 987 &% ot 3T 7T 9/ & fol u&f & Ve 1 9ad 331 faheu g |
g2d I & Faex A gt

Options :

1. % graAaiyd
2. % NGNS
3. ¢ FaaEde
4. % IRYYdH

Question Number : 184 Question Id : 6009298268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9w ey &1 Tga B &l 3T 770 919 & ol Uel & U o Jad 331 f[aheu 5|
ged! g & TahR I B!

Options :

1. ® gAAaiY®
2. % TP
3. ¢ Aadra®
4. % RYIdD

Question Number : 185 Question Id : 6009298269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &1 off g a1 T I 3] [ddhed 5|
Options :

1. % 9d g fardia uRfRufadl & SR & g B IR A g

2. ¢ W gH fausia URRRUTTT & 31 1 b1 BT IRUM <l

3. % Wd &I [qudia aRTRURRI & 31T 9 b1 BT IR & 3

4. % 9 gH fauia uRRRAE! & S g1 o BT URO &dl g

Question Number : 185 Question Id : 6009298269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 909 o Sl Y a1 &1 oY 33T [ddved 5|
Options :

1. % B g9 R TRRURA ¥ SR & g # iR 3

2. ¢ W gH faudia URRRUFTIT & 31 1 b1 BT IR <

3. % Qo I Ruda uRRRET 3 o 7 g 1 IR 2

4. % A Tl TR & o & g A RT3

Question Number : 186 Question Id : 6009298270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad Uy &, IR fawedl & 4, 39 faswed &1 99 &< STl 9a! 919 Ha &1 [ddhed gl
ERCHEEEE R RIRERINE EECP U]

Options :

1. ¢ Igad a1

2. % iy arey

3. % Yogdrad arad

4, % I I

Question Number : 186 Question Id : 6009298270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8, IR fawedl & 9, 39 fddhed &1 999 &1 Sl Ut a1 g $I [ddbed 51|
98 g 1 =Tl U, SHfAT §8-99 Y Uad |

Options :

1. ¢ ggad a1’

2. % Ay a1

3. % Higdre diH

4. % I 91

Question Number : 187 Question Id : 6009298271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 8, IR fas el 4 9, 39 fdded &1 98 3 o Ug! a1 e &1 fddhed gl |
I S YT b 98 AR S|

Options :

1. % fayMardae arey

2. % I dIX™

3. ¢ Tl |

4. % Hgad a1

Question Number : 187 Question Id : 6009298271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed gy o, IR fawedl 7 9, 39 fawed &1 9g7 & 51l Yal arag He &l f[ddhed gl
34 8 YT o ag ART SIr@ |

Options :

1. % [qYTardes drag

2. % IR IR

3. ¢ [0y arey

4. % IgId a1



Question Number : 188 Question Id : 6009298272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad Uy o, aR fawed! & 4, 39 fdeed &1 99+ &3 ol faR1 g god are &1 9a! fdwbed 31|
Options :

1. ¢ 8T, 8| T o, &1 oft 59 7ifq & B 7ifa a3 o

2. % gl g U o, 1 T[0T 39 Tiid | g Tild aral A Pal

3. % g1 g| Ue o, <1 ot 9 7iig | g 7ia a1l 3 Fel|

4. % gf, ¥ U A, <1 Of 39 Tiia § § Tiid Tl A el

Question Number : 188 Question Id : 6009298272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed & 4, 39 fdeed &1 99+ o3 Sl faR1 g god are) o1 9al fdwed 51|
Options :

1. ¢ "8, 8 T, <1 7oft 39 7ifq 7 &) 7fa gt 3 e

2. % gf 8 U @, 31 Tuft 39 i § &) Tiid arell A e

3. % BI'g| Ueb o, &1 U7 3 711a H g TIia arell 3 g

4. % g, 8| T o1, <1 7oft 39 Tila H § 7iiq arait 3 et

Question Number : 189 Question Id : 6009298273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad Uy &, IR fadedl # 9, 39 fddb ey &1 9 &3 oif fovTH g ot are’l o1 ol [dehed o1 |
Options :

1. % 3514 AT Y HgT, "1l TS A T Sleat /T =1 HgHH AR I Fof ST ST

2. % JgI Al A HYT Al AT GH T STeat WT 1| HgHH AT 4Id ol 31T S

3. % JGIH A1 Y BT Al TS gH T Seg! | AT HEH ANT A1 ot 31 S|

4.« IgIH A1 Y BT, "HI TS JH T STea @ T HEHT AT T Sof 31T Saa)”




Question Number : 189 Question Id : 6009298273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us #, IR fawedl | 4, 39 fadbed &1 =g o Sl faR1H g ot arer 1 W8t fdebed 311
Options :

1. % IgI4 AT Y BT, | TS H JHT STeat /T AT HEHH QT I ol 3T ST

2. % I A1 Y HgT A1 31S] g7 W Sleat Wl o1 HgHH AR ITd Jof 3T T4

3. % IgIH Al Y el Al 3MTST gH JHT STeg] W1 -1 HgH AT IId & 311 S|

4.« IGIH A1 Y BT, "HI TS TH T STea @ AT HEHT AT T ol 3T S|

Question Number : 190 Question Id : 6009298274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g uy & IR fawe # ¥, 39 fawey &1 7 o3 off U 7T erer o1 98t o aran fawe g
EREEIE

Options :

1. ¥ TZR BT GHI 1 SR B

2. % DTS b FHY & HRAT

3. % 3OHM BT

4. % 1 SeHt ST B8 Rgid 78

Question Number : 190 Question Id : 6009298274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g uy & IR fowe § 9, 39 fawey &1 7 &3 off fau 7T Yerer o1 I8t o aran fawe 8
=i g1 -

Options :

1. ¢ I LR BT B 7 R &1

2. % HISATS & THT & HIAT

3. % 3OUM gl

4. % U971 31eH w1 o1 Rigid T 81




Question Number : 191 Question Id : 6009298275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Uy & IR fawe # 9, 39 fadwey &1 7 o3 off fau 7T Yerer o1 98t o aran faweu g1
feet oo

Options :

1. % ygid g

2. T3l OR &1 3
3. % §gd PRI S
4. % 3D gY g

Question Number : 191 Question Id : 6009298275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & o fawel # 9, 39 fadmed &1 7o &3 off U 7T erer &1 Tet o aran fawey 2|
CORRISELS

Options :

1. % Yygiid g

2. ¢ Tl TR &1 31T
3. % §gd AR g

4. % 3D §Y g

Question Number : 192 Question Id : 6009298276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & IR fawedl § 9, 39 fadmed &1 78 &< off [T T TR &1 9e! o aran fawed g
=P O -

Options :

1. % OR AR i

2. % IRRAGE ST



3. ¥ UG il UH a1 68 A 381
4. % I BT gRAA HRAT

Question Number : 192 Question Id : 6009298276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mqﬂﬁ,mﬁWﬁ@,WBdeﬁde A S feU TTU geTar o1 wal o ara fadbed g

Options :

1. % AR AR AT

2. % TRR A S BT

3. ¢ Ugd o9l UH 7 &g 7 38T
4. % Y Y gRAA HAT

Question Number : 193 Question Id : 6009298277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! § 9, 39 [daed &1 997 &< ol & 715 Aiifad o1 el 3 arell fadbed g |
SISt Pt gAqd, A HT SaTel! -

Options :

1. #* Il iy

2. % GHI TR A1Y g

3. % QU BIH Bl

4. BT YR W e

Question Number : 193 Question Id : 6009298277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve o, TR faweul # 9, 39 fadhed &1 70 B Sl €1 718 didbifad o1 Tet 3 arer fawed g |
GHS! & g, Al THT e -

Options :




1. % g1 gy

2. % GFl AP Y g

3. % qUA HIH HAT

4. ¢ HTH YR T fIH

Question Number : 194 Question Id : 6009298278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR fowedl ° T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 3 arar ideey g
9 3{19 ¢ A dTd-
Options :

1. ¢ o S0-qHg S ST
2. % g1 oig g gaeh 9 81
3. % 3[HT T IGT

4. % TS DI OIS DI AY HAT

Question Number : 194 Question Id : 6009298278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foaiad Uy & IR fomeal & 9, 39 foey &1 Taa &1 ot <1 71 dipifad &1 Tet 3 arar ey g
9 319 <1 7 d1a-
Options :

1. ¢ o9 90998 S BT
2. % g1 oig g gaeh 9 81
3. % 3(FYT T G

4. % S DI OIS DI AP BT

Question Number : 195 Question Id : 6009298279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdwea &1 987 &8 St <t 715 Albifad &1 Tat 31 arelt fadbeu g1




T feT 9 3raTs HIY-

Options :

1. % 919 9gd R 0 fodpd el
2. ¥ §gd Gl Y BT DAl

3. #% g Y eIH

4. % gRadRd @Hd

Question Number : 195 Question Id : 6009298279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed gy o, IR fawed! # 9, 39 [daey &1 997 &< Sl & 715 Aiobifad o1 el 3 arell fadbed g
A f& =rel 3rgTE Pr-

Options :

1. % =70 §gd WR U focgpe gl
2. ¢ Sgd il Y B1H HAl

3. % 3Ry W gl

4. % URgd-T=Ad W@HIg

Sub-Section Number : 2
Sub-Section Id : 600929481
Question Shuffling Allowed : Yes

Question Id : 6009298280 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

2 fou T Treriwr & W1 5 Uy U A €1 39 MY ) egdes Ue 3R IR e i ¥ Udd U Bl FaihH IR I

et & wopR & A SR HHA Iexdl & Ui T H S1ge YT gIFT SR 6| o Sildl § - SMGH! 78] deidl, IYHT faYr Ieid o
ATy Tt 7t ) U IvTE Ty el B, A b g Bt et & wyw o1 geguf sufdkie @R iaef ISR giar 8] 1 Y ultng 3
¢ b o1 PIE et Sles BT Pl & o I Ul a9 51 TAeiel] 9 98 9T PR 61 8, W I BTH Hd T I 6 &0 I8 T @1 § [P
dg Sl B3 81 8, 98 TTAd &) Tad B! Tad HHd g€ Ht S99 Tard fohT 71 8T 8| 34T SRUT GHw1S] Ug 37eR} & 3faR &1 g dfchd 3 3
T i 8, TG 3P BT3!S BRUI Bl Sia a1 g 8 T @Il = Al SR FaRard &1 Radre 3iigl 781, 34 i fd@man au
Y1 3R fFrafa & g1l faeT s e 761 98, Wd & TiiA § 3ig Yy foran it 3 3aferg wet f W a8 uRad- ge a1 71, S
T IR H GW1 9184 §| SIevd ¢ 1o §H GUUT oiT Siia SiiHT H1kd | FI8 & SIdgR H Adl & ¢ ol 9, Ta! 'SATGH! & I g




Sub questions

Question Number : 196 Question Id : 6009298281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG & IR SR BT Hd T TS B T BT 38T /7
Options :

1. % IYBI fferd B [t b o g Ta1 T
2. ¢ {5 98 S IR @17, 98 3N T 3

3. % o Wi UM BT HIRIT TR g

4. % A1 g1 T8 Iadl fb S Tad 8l 61 6

Question Number : 197 Question Id : 6009298282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafirs TS & STavlE Sitad & §2 814 &1 1 HRUT ST 147 /2

Options :

1. ¢ 3 AT Y 3BT

2. % Afqpar &1 99 Radre siig|
3. % QN &1 feardr

4. % AT I} Bt B4

Question Number : 198 Question Id : 6009298283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTeft St = wias & ufkacdH o fawa & o1 &g 2
Options :

1. % Hfosy o uRad= @ R te o1 gt a1d g
2. % Pig Ui 307 SR uRad g1 o1 Tehd
3. ¢ 98 URad W& &1 oI 30! A1y

4. % ORI T 3 81|




Question Number : 199 Question Id : 6009298284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

290 A DI - T Tog I9NR BT YTTgaTeh Usg e 22
Options :

1. % UHId

2. ® UbIRId

3. ¥ 39lS

4. % piffme

Question Number : 200 Question Id : 6009298285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 IJRG Bl Dlg IUGad -
Options :

1. % Al BT 3id

2. % 0N BT JHfABHR

3. % Il B gfd

4. ¥ = IGH! DI qa

Question Id : 6009298280 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

I U T eI 3 91 5 Uy U TR § | 39 I ) Yd e U R IR faded! H ¥ TS Uy &1 Harad SR g |

forert & TR & A ik Arda IE=at & Ul 09 o Sfee Ay g1 SRex) 8| 5T Sl © - SMTeH) el Ieta, SHahT Ay Ieral g
AT Tt 07 Y Uep S7Te ST a1 8, A b ey bt At A 7 o1 g safekied 9 3iaef SO idn 8| e &1 ufig S
& o ST D18 i1t Sleb B8 Bl & Al I Ul ddl g1 derdl fob a8 T R QT &, TR TTeld HTH P YHI 34 B &1 Jg TATS X681 § 1b
98 Sl R G818, I8 TTAd &| TAd B! Tad HHd g€ Ht U9 Tad fohT o7 3871 | 341 SRUT gHw1sf Ud 3eR} & 3faR &1 g Afchd 3 3
T i 8, TG 3P SBTAT b BRUI Bl Sia 91 gl g T @Il = Al SR TR o1 fadie 3iigl 781, 39 Siiepx [d@mnay

Y 3R fafa & g1l faein ae) 81 90, Wd & U™ ¥ 301 Hg feran Tieh 3 sufere wet f g8 a8 ufkad Ie a1 =nfey, v
T IR H ST 9184 §| SIevd ¢ [ §H GUUT OiT Sita SiiHT H1kd| FI8 & SIdgR H Adl & G ol 9, Ta! 'SATGH! & I g

Sub questions




Question Number : 196 Question Id : 6009298281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 197 Question Id : 6009298282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 198 Question Id : 6009298283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % yfasy & uRad= @ R i S @ ama g
2. % pig Ui 307 SR uRad Tg! o1 Tahd
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4. % gRad AT S g1

Question Number : 199 Question Id : 6009298284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TATd
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3. ¥ 39S
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Question Number : 200 Question Id : 6009298285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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